

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 17, 2020

Progress Estima 28	te Number	Contract ID Prime Contracto	181214-F02 or Pace Construction C		gust 2, 2020 Original Contract Amou gust 15, 2020 Net Change Order Amo Current Contract Amou	unt (\$12,766.64)
Approval Date						By User
August 17, 2020			Generated and	Approved (and should be considered	ed Draft) at the Project Office Level by	peterr1
August 18, 2020			Reviewed and Appr	roved (and should be considered Dra	aft) at the Resident Engineer Level by	lewisj1
August 19, 2020				Reviewed and Approved at the Cer	ntral Office Controllers Office Level by	greggd1
Original Comp	letion Date	Current C	Completion Date	Actual Completion Date	% of Current Contract Amou	nt Complete
November 1	1, 2020	Nove	mber 1, 2020		62.89%	

No Milestones Exist for Contract

Contract Total Pay For Estimate	No. 28				
		This Estimate	Previous	To Date	
181214-F02					
Total Post	ed Items Pay	\$1,669,174.07	\$3,023,759.87	\$4,692,933.94	
Gross Iten	n Adjustments	\$197,239.59	(\$93,017.76)	\$104,221.83	
Incentive		\$0.00	\$0.00	\$0.00	
Disincenti	/e	\$0.00	\$0.00	\$0.00	
Liquidated	Damage	\$0.00	\$0.00	\$0.00	
Other Con	tract Adjustments	\$0.00	\$0.00	\$0.00	
			\$2,930,742.11	\$4,797,155.77	
Contract Total Payable This Esti	mate:	\$1,866,413.66			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3185	0020	2031000	CLASS A EXCAVATION	CUYD	\$24.000	830	\$19,920.00
	0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$54.000	3,102.2	\$167,518.80
	0170	4039905	MISC.OPTIONAL PAVEMENT & SHOULDER	SQYD	\$21.500	34,344.8	\$738,413.20
	0180	4071005	TACK COAT	GAL	\$2.500	2,891	\$7,227.50
	0280	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	SQYD	\$79.000	-1,685.9	(\$133,186.10
	0380	6181000	MOBILIZATION	LS	\$520,000.000	0.25	\$130,000.00
	0460	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$9.500	1,863.1	\$17,699.45
	5001	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	SQYD	\$95.250	1,563.9	\$148,961.48
	5002	4039902	MISC.Temp Pavement Shoulder Widening	EA	\$3,035.980	1	\$3,035.98
	5003	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$2,709.000	1	\$2,709.00
	5004	7061060	REINFORCING STEEL (BRIDGES)	LB	\$1.520	735.3	\$1,117.66
Project J6	S3185 - To	tal					\$1,103,416.97
J6S3186	1250	2022010	REMOVAL OF IMPROVEMENTS	LS	\$7,000.000	1	\$7,000.00
	1260	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III FOR CRASHWORTHY END TERMINALS	LF	\$14.000	200	\$2,800.00
	1280	3105003	GRAVEL (A) OR CRUSHED STONE (B)	SQYD	\$8.000	1,938	\$15,504.00
	1290	4019901	MISC.INFRARED SCANNING	LS	\$7,500.000	1	\$7,500.00
	1300	4019901	MISC.INTELLIGENT COMPACTION	LS	\$20,000.000	1	\$20,000.00
	1310	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$54.000	7,313.9	\$394,950.60
	1320	4071005	TACK COAT	GAL	\$2.500	4,900	\$12,250.00
	1370	6161005	CONSTRUCTION SIGNS	SQFT	\$5.000	586	\$2,930.00
	1380	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$60.000	4	\$240.00
	1390	6161009	FLAG ASSEMBLY	EA	\$20.000	4	\$80.00
	1420	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN CONTRACTOR FURNISHED/MAINTAINED	EA	\$4,000.000	1	\$4,000.00
	1430	6181000	MOBILIZATION	LS	\$75,000.000	1	\$75,000.00
	1470	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$15.000	248.5	\$3,727.50
	1480	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$29.000	475	\$13,775.00
	1490	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,000.000	2	\$6,000.00

Revision 4/1/2020 Page 1 of 30



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 17, 2020

Progress Estimate Number 28 Contract ID 181214-F02 Pay Period Start August 2, 2020 Original Contract Amount \$7,474,777.00 Prime Contractor Pace Construction Company, LLC Pay Period End August 15, 2020 Net Change Order Amount \$12,766.64 Current Contract Amount \$7,462,010.36

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
Project J69	3186 - To	tal					\$565,757.10
Overall - T	otal						\$1,669,174.07

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Project Number	Line No.	Item Description	Adjustment	Other Item	Comments	Adjustment	Line Item	Adjustment amount
Number	NO.		Type	Adjustment Type		Quantity	Adjustment Unit Price	amount
J6S3185	0100	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	MaterialCredit			59,354	\$3.50	\$207,739.00
	0100	BASE (4 IN. THICK) TYPE 5 AGGREGATE FOR Material This adjustment offsets the original system-					\$3.50	(\$137,739.00)
	0100 TYPE 5 AGGREGATE FOR BASE (4 IN. THICK) BASE (4 IN. THICK) Material generated Overrun Payment Estimate Item Adjustment (0015) due to user peterr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.					39,354	\$3.50	\$137,739.00
	0130	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Material			-514.5	\$130.00	(\$66,885.00)
	0130	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0016) due to user peterr1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	514.5	\$130.00	\$66,885.00
	0160	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-3,102.2	\$54.00	(\$167,518.80)
	0160	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0017) due to user peterr1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	3,102.2	\$54.00	\$167,518.80
	0170	MISC.	Material			-40,277.2	\$21.50	(\$865,959.80)
	0170	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0018) due to user peterr1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	40,277.2	\$21.50	\$865,959.80
	5004	REINFORCING STEEL (BRIDGES)	Material			-735.3	\$1.52	(\$1,117.66)
J6S3186	1310	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-7,313.9	\$54.00	(\$394,950.60)
	1310	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0020) due to user peterr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	7,313.9	\$54.00	\$394,950.60
	1320	TACK COAT	Material			-4,900	\$2.50	(\$12,250.00)
	1320	TACK COAT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0021) due to user peterr1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	4,900	\$2.50	\$12,250.00
	1370	CONSTRUCTION SIGNS	Material			-586	\$5.00	(\$2,930.00)
	1370	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0022) due to user peterr1	586	\$5.00	\$2,930.00

Revision 4/1/2020 Page 2 of 30



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 17, 2020

Progress Estimate Number 28 Contract ID 181214-F02 Pay Period Start August 2, 2020 Original Contract Amount \$7,474,777.00 Prime Contractor Pace Construction Company, LLC Pay Period End August 15, 2020 Net Change Order Amount \$12,766.64 Current Contract Amount \$7,462,010.36

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
6S3186					overridding Payment Estimate Exception 12 on the current Payment Estimate.			
	1390	FLAG ASSEMBLY	Material			-4	\$20.00	(\$80.00
	1390	FLAG ASSEMBLY	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0023) due to user peterr1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	4	\$20.00	\$80.00
	1480	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$6,141.75
	1480	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material			-475	\$29.00	(\$13,775.00
	1480	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0024) due to user peterr1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	475	\$29.00	\$13,775.00
	1490	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$3,240.00
	1490	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material			-2	\$3,000.00	(\$6,000.00
	1490	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0025) due to user peterr1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	2	\$3,000.00	\$6,000.00
Total					on the current Payment Estimate.			\$197

Revision 4/1/2020 Page 3 of 30



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J6S3185	FAS S501(20)	Resurface and shoulder widening	Т	ST CHARLES	from I-70 South Outer Road to Route TT
J6S3186	FAS S501(23)	Resurface	Т	ST CHARLES	from Route TT to Route 94

Totals by Jo	b Numbers			
J6S3185		This Estimate	Previous	To Date
	Posted Item Pay Gross Item Adjustments	\$1,103,416.97 \$206,621.34	\$2,961,982.12 (\$100,643.15)	\$4,065,399.09 \$105,978.19
	Gross Item Pay	\$1,310,038.31	\$2,861,338.97	\$4,171,377.28
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J6S3186		This Estimate	Previous	To Date
	Posted Item Pay	\$565,757.10	\$61,777.75	\$627,534.85
	Gross Item Adjustments	(\$9,381.75)	\$7,625.39	(\$1,756.36)
	Gross Item Pay	\$556,375.35	\$69,403.14	\$625,778.49
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00

Revision 4/1/2020 Page 4 of 30



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 3040504, Project Item Line Number 0100, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 4013000, Project Item Line Number 0130, Material Set 401300096, Material 0401BPPMBB - Plant Mix Bituminous Base, Acceptance Action Generic AspLow is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3186, Item 4020520, Project Item Line Number 1310, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 4020520, Project Item Line Number 0160, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 4039905, Project Item Line Number 0170, Material Set 403990596, Material 0403SP190CLG - Superpave 19.0 mm, Des C 80 Gyros, Acceptance Action Generic AspHigh is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 4039905, Project Item Line Number 0170, Material Set 403990596, Material 0403SP190C - Superpave 19.0 mm, Des C, Acceptance Action Generic AspHigh is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3186, Item 4071005, Project Item Line Number 1320, Material Set 407100596, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3186, Item 4071005, Project Item Line Number 1320, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3186, Item 6061061, Project Item Line Number 1480, Material Set 606106196, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3186, Item 6061061, Project Item Line Number 1480, Material Set 606106196, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3186, Item 6063014, Project Item Line Number 1490, Material Set 6063014, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3186, Item 6161005, Project Item Line Number 1370, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3186, Item 6161009, Project Item Line Number 1390, Material Set 6161009, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 7061060, Project Item Line Number 5004, Material Set 706106096, Material 1036RSDFPL42M16 - Reinforcing Steel No. 5/M16 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 7061060, Project Item Line Number 5004, Material Set 706106096, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 7061060, Project Item Line Number 5004, Material Set 706106096, Material 1036RSDFPL42M19 - Reinforcing Steel No. 6/M19 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 7061060, Project Item Line Number 5004, Material Set 706106096, Material 1036RSDFPL42M22 - Reinforcing Steel No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 7061060, Project Item Line Number 5004, Material Set 706106096, Material 1036RSDFPL42M25 - Reinforcing Steel No. 8/M25 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 7061060, Project Item Line Number 5004, Material Set 706106096, Material 1036RSDFPL42M29 - Reinforcing Steel No. 9/M29 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 7061060, Project Item Line Number 5004, Material Set 706106096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 10/M32 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3185, Item 7061060, Project Item Line Number 5004, Material Set 706106096, Material 1036RSDFPL42M36 - Reinforcing Steel No. 11/M36 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	Working with Materials to complete their discrepancies.	peterr1	Acknowledged

Revision 4/1/2020 Page 5 of 30



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
181214-F02	J6S3185	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$180,514.94	\$108,308.96
		0001	0020	2031000	CLASS A EXCAVATION	16,398.00	830.00	17,228.00	CUYD	17,228.00	\$24.00	\$413,472.00
		0001	0030	2036000	COMPACTING EMBANKMENT	11,576.00	0.00	11,576.00	CUYD	0.00	\$6.00	\$0.00
		0001	0040	2063000	CLASS 3 EXCAVATION	697.00	0.00	697.00	CUYD	697.00	\$38.00	\$26,486.00
		0001	0050	2063300	CLASS 4 EXCAVATION	50.00	0.00	50.00	CUYD	50.00	\$115.00	\$5,750.00
		0001	0060	2063500	CULVERT CLEANOUT	24.00	0.00	24.00	EA	2.00	\$500.00	\$1,000.00
		0001	0070	2142000	FURNISHING ROCK FILL	662.00	0.00	662.00	CUYD	385.80	\$28.00	\$10,802.40
		0001	0800	2143000	PLACING ROCK FILL	662.00	0.00	662.00	CUYD	385.80	\$15.00	\$5,787.00
		0001	0090	2159903	MISC.MODIFIED SHAPING SLOPES CL. III	1,800.00	0.00	1,800.00	LF	800.00	\$14.00	\$11,200.00
		0001	0100	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	66,051.00	0.00	66,051.00	SQYD	59,354.00	\$3.50	\$207,739.00
		0001	0110	3105003	GRAVEL (A) OR CRUSHED STONE (B)	1,855.00	0.00	1,855.00	SQYD	0.00	\$12.50	\$0.00
		0001	0120	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	20,046.00	0.00	20,046.00	TONS	0.00	\$55.00	\$0.00
		0001	0130	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	1,526.80	0.00	1,526.80	TONS	514.50	\$130.00	\$66,885.00
		0001	0140	4019901	MISC.INFRARED SCANNING	1.00	0.00	1.00	LS	0.00	\$17,500.00	\$0.00
		0001	0150	4019901	MISC.INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	0.00	\$28,000.00	\$0.00
		0001	0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	9,655.10	0.00	9,655.10	TONS	3,102.20	\$54.00	\$167,518.80
		0001	0170	4039905	MISC.OPTIONAL PAVEMENT & SHOULDER	41,000.10	0.00	41,000.10	SQYD	40,277.20	\$21.50	\$865,959.80
		0001	0180	4071005	TACK COAT	27,102.00	0.00	27,102.00	GAL	3,051.00	\$2.50	\$7,627.50
		0001	0190	5021106	CONCRETE PAVEMENT (6 IN. NON-REINF)	830.00	0.00	830.00	SQYD	0.00	\$79.50	\$0.00
		0001	0200	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	1,744.00	0.00	1,744.00	CUYD	1,510.10	\$29.50	\$44,547.95
		0001	0210	6096042	PLACING TYPE 2 ROCK DITCH LINER	1,744.00	0.00	1,744.00	CUYD	1,502.10	\$17.75	\$26,662.28
		0001	0220	6097000	ROCK LINING	255.00	0.00	255.00	CUYD	225.67	\$58.50	\$13,201.70
		0001	0230	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1.00	\$0.00
		0001	0240	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	405.00	-127.00	278.00	SQYD	278.00	\$5.50	\$1,529.00
		0001	0250	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	405.00	-127.00	278.00	SQYD	278.00	\$2.50	\$695.00
		0001	0260	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	1,234.00	-142.00	1,092.00	LF	1,092.00	\$1.00	\$1,092.00
		0001	0270	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	370.00	-82.30	287.70	TONS	287.70	\$37.50	\$10,788.75
		0001	0280	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	1,685.90	-1,685.90	0.00	SQYD	-122.00	\$79.00	(\$9,638.00)
		0001	0290	6139905	MISC.REMOVE MATERIAL FOR FULL DEPTH PVMT REPAIR	405.30	-27.10	378.20	SQYD	378.20	\$59.00	\$22,313.80
		0001	0300	6139910	MISC.FURNISH AND PLACE MATERIAL FOR FULL DEPTH PVMT REPAIR	67.00	111.40	178.40	TONS	178.40	\$65.00	\$11,596.00
		0001	0310	6161005	CONSTRUCTION SIGNS	2,183.00	0.00	2,183.00	SQFT	1,926.00	\$5.00	\$9,630.00
		0001	0320	6161008	ADVANCED WARNING RAIL SYSTEM	20.00	0.00	20.00	EA	20.00	\$60.00	\$1,200.00
		0001	0330	6161009	FLAG ASSEMBLY	10.00	0.00	10.00	EA	10.00	\$20.00	\$200.00
		0001	0340	6161025	CHANNELIZER (TRIM LINE)	250.00	0.00	250.00	EA	61.00	\$12.00	\$732.00
		0001	0350	6161030	TYPE III MOVEABLE BARRICADE	12.00	0.00	12.00	EA	10.00	\$125.00	\$1,250.00
		0001	0360	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	12.00	0.00	12.00	EA	4.00	\$1,800.00	\$7,200.00
		0001	0370	6169902	MISC:NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN CONTRACTOR FURNISHED/RETAINED	8.00	0.00	8.00	EA	8.00	\$4,000.00	\$32,000.00
		0001	0380	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$520,000.00	\$520,000.00
		0001	0390	6189902		4.00	0.00	4.00	EA	5.00	\$600.00	\$3,000.00
		0001	0400	6191000	PAVEMENT EDGE TREATMENT	131,861.00	0.00	131,861.00	LF	117,793.00	\$0.01	\$1,177.93
		0001	0410	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$1,200.00	\$0.00
		0001	0420	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	132,401.00	0.00	132,401.00	LF	0.00	\$0.10	\$0.00
		0001	0430	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	82,751.00	0.00	82,751.00	LF	0.00	\$0.10	\$0.00
		0001	0440	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	171.00	0.00	171.00	LF	0.00	\$8.00	\$0.00

Page 6 of 30 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

iole. Posted Q	uanililes	and valu	es are r	ased on R	eport Generated date and can differ from the posted amo	ount at the t	ime the E	stimate was	Genera	itea.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
81214-F02	J6S3185	0001	0450	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	684.00	0.00	684.00	SQYD	0.00	\$5.00	\$0.00
		0001	0460	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6,482.00	0.00	6,482.00	SQYD	1,863.10	\$9.50	\$17,699.45
		0001	0470	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	2,142.00	0.00	2,142.00	SQYD	1,542.00	\$1.65	\$2,544.30
		0001	0480	6240104A	SEPARATION GEOTEXTILE	940.00	0.00	940.00	SQYD	161.20	\$1.65	\$265.98
		0001	0490	6249905	MISC.INSTALLING HIGH PERFORMANCE GEOTEXTILE	2,531.70	0.00	2,531.70	SQYD	2,422.40	\$2.00	\$4,844.80
		0001	0500	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	860.00	0.00	860.00	STA	0.00	\$15.00	\$0.00
		0001	0510	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	614.00	0.00	614.00	STA	0.00	\$25.00	\$0.00
		0001	0520	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.25	\$12,600.00	\$3,150.00
		0001	0530	7034001	CLASS B-1 CONCRETE	127.60	0.00	127.60	CUYD	127.60	\$1,195.00	\$152,482.00
		0001	0540	7061030	REINFORCING STEEL (CULVERTS)	20,210.00	0.00	20,210.00	LB	19,120.00	\$2.00	\$38,240.00
		0001	0550	7250412	12 IN. PIPE GROUP C	54.00	91.00	145.00	LF	145.00	\$40.00	\$5,800.00
		0001	0560	7250415	15 IN. PIPE GROUP C	2,636.00	-383.00	2,253.00	LF	2,253.00	\$45.00	\$101,385.00
		0001	0570	7250418	18 IN. PIPE GROUP C	579.00	-65.00	514.00	LF	514.00	\$50.00	\$25,700.00
		0001	0580	7250421	21 IN. PIPE GROUP C	24.00	-24.00	0.00	LF	0.00	\$75.00	\$0.00
		0001	0590	7250424	24 IN. PIPE GROUP C	265.00	-30.00	235.00	LF	235.00	\$80.00	\$18,800.00
		0001	0600	7261012	12 IN. PIPE GROUP A	4.00	-4.00	0.00	LF	0.00	\$226.75	\$0.00
		0001	0610	7261018	18 IN. PIPE GROUP A	547.00	-49.00	498.00	LF	498.00	\$83.00	\$41,334.00
		0001	0620	7261021	21 IN. PIPE GROUP A	93.00	-93.00	0.00	LF	0.00	\$85.25	\$0.00
		0001	0630	7261024	24 IN. PIPE GROUP A	201.00	93.00	294.00	LF	294.00	\$97.00	\$28,518.00
		0001	0640	7261030	30 IN. PIPE GROUP A	77.00	0.00	77.00	LF	77.00	\$100.00	\$7,700.00
		0001	0650	7261036	36 IN. PIPE GROUP A	48.00	0.00	48.00	LF	48.00	\$110.00	\$5,280.00
		0001	0660	7261048	48 IN. PIPE GROUP A	38.00	0.00	38.00	LF	38.00	\$140.75	\$5,348.50
		0001	0670	7320612A	12 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$495.00	\$990.00
		0001	0680	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	31.00	-1.00	30.00	EA	30.00	\$670.00	\$20,100.00
		0001	0690	7320621A	21 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	4.00	-4.00	0.00	EA	0.00	\$575.00	\$0.00
		0001	0700	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	6.00	14.00	20.00	EA	20.00	\$615.00	\$12,300.00
		0001	0710	7320630A	30 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	6.00	-2.00	4.00	EA	4.00	\$785.00	\$3,140.00
		0001	0720	7320636A	36 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$1,025.00	\$1,025.00
		0001	0730	7320648A	48 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$1,730.00	\$3,460.00
		0001	0740	7320812A	12 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	8.00	4.00	12.00	EA	12.00	\$460.00	\$5,520.00
		0001	0750	7320815A	15 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	6.00	117.00	123.00	EA	123.00	\$475.00	\$58,425.00
		0001	0760	7320818A	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	2.00	26.00	28.00	EA	28.00	\$490.00	\$13,720.00
		0001	0770	7320821A	21 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	2.00	-2.00	0.00	EA	0.00	\$500.00	\$0.00
		0001	0780	7322015A	BEVELED PIPE END TREATMENT FOR 15 IN. OR ALLOWED SUBSTITUTE PIPE	104.00	-104.00	0.00	EA	0.00	\$625.00	\$0.00
		0001	0790	7322018A	BEVELED PIPE END TREATMENT FOR 18 IN. OR ALLOWED SUBSTITUTE PIPE	24.00	-24.00	0.00	EA	0.00	\$700.00	\$0.00
		0001	0800	7322021A	BEVELED PIPE END TREATMENT FOR 21 IN. OR ALLOWED SUBSTITUTE PIPE	2.00	-2.00	0.00	EA	0.00	\$875.00	\$0.00
		0001	0810	7322024A	BEVELED PIPE END TREATMENT FOR 24 IN. OR ALLOWED SUBSTITUTE PIPE	8.00	-8.00	0.00	EA	0.00	\$900.00	\$0.00
		0001	0820	7349902	MISC.COUPLING BAND FOR ATTACHMENT TO EXISTING PIPE CULVERTS	4.00	0.00	4.00	EA	0.00	\$1,500.00	\$0.00
		0001	0830	8051000A	SEEDING - COOL SEASON MIXTURES	48.00	0.00	48.00	ACRE	2.50	\$1,650.00	\$4,125.00
		0001	0840	8061004	SEDIMENT TRAP ROCK	178.10	0.00	178.10	CUYD	0.00	\$60.00	\$0.00
		0001	0850	8061005	ROCK DITCH CHECK	21,300.00	0.00	21,300.00	LF	10,888.00	\$12.10	\$131,744.80
		0001	0860	8061016	SEDIMENT REMOVAL	3,336.00	0.00	3,336.00	CUYD	0.00	\$9.25	\$0.00
		0001	0870	8061017	TEMPORARY SEEDING AND MULCHING	48.00	0.00	48.00	ACRE	14.00	\$1,225.00	\$17,150.00

Page 7 of 30 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ontract Pr		Category	Line No.	Item Code	eport Generated date and can differ from the posted amo	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTED To Date (See report generated date)					
4.500	20405		0000	0004040	OUTEFACE	400.440.00		,		Qty	04.00						
4-F02 J6S	S3185	0001	0880	8061019	SILT FENCE	120,140.00	0.00	120,140.00	LF	10,708.00	\$1.00	\$10,708.00					
		0001	0890	8061050	TYPE C BERM	470.00	0.00	470.00	LF	67.00	\$40.00	\$2,680.00					
		0001	0900	8064128	TYPE 1 TURF REINFORCEMENT MAT	1,340.00	0.00	1,340.00	SQYD	0.00	\$4.25	\$0.00					
		0010	0910	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,550.00	0.00	1,550.00	LF	612.50	\$29.00	\$17,762.50					
		0010	0920	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	4.00	\$3,200.00	\$12,800.00					
		0010	0930	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	10.00	0.00	10.00	EA	4.00	\$2,900.00	\$11,600.00					
		0040	0940	9031250A	U-CHANNEL POST, 3 LB	63.00	0.00	63.00	LF	0.00	\$20.00	\$0.00					
		0040	0950	9031280	2.5 IN. PSST POST - 12 GA.	330.00	0.00	330.00	LF	0.00	\$18.00	\$0.00					
		0040	0960	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	348.00	0.00	348.00	LF	0.00	\$50.00	\$0.00					
		0040	0970	9035004A	SH-FLAT SHEET	383.00	0.00	383.00	SQFT	0.00	\$21.00	\$0.00					
		0040	0980	9035069A	SHF-FLAT SHEET FLUORESCENT	372.00	0.00	372.00	SQFT	0.00	\$25.00	\$0.00					
		0070	0990	2061000	CLASS 1 EXCAVATION	60.00	0.00	60.00	CUYD	60.00	\$52.00	\$3,120.00					
		0070	1000	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$27,350.00	\$27,350.00					
		0070	1010	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	129.00	0.00	129.00	SQYD	129.00	\$235.00	\$30,315.00					
		0070	1020	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	484.00	11.00	495.00	LF	495.00	\$90.00	\$44,550.00					
		0070	1030	7027000	PILE POINT REINFORCEMENT	8.00	0.00	0.00 8.00	EA	8.00	\$95.00	\$760.00					
		0070	1040	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	25.00	0.00	25.00	CUYD	25.00	\$975.00	\$24,375.00					
		0070	1050	7034215	SAFETY BARRIER CURB	141.00	0.00	141.00	LF	141.00	\$138.00	\$19,458.00					
		0070	1060	7034222	SLAB ON CONCRETE BEAM	196.00	0.00	196.00	SQYD	196.00	\$500.00	\$98,000.00					
		0070	1070	7056049	21 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	222.00	0.00	222.00	LF	222.00	\$300.00	\$66,600.00					
		0070	1080	7123610	SLAB DRAIN	12.00	0.00	12.00	EA	12.00	\$405.00	\$4,860.00					
	0	00	00	0070	1090	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,175.00	\$2,350.00			
				00		0	0070	1100	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$265.00	\$2,120.00
							0071	1110	2063300	CLASS 4 EXCAVATION	45.00	0.00	45.00	CUYD	45.00	\$85.00	\$3,825.00
							0071	1120	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	1.00	\$3,500.00	\$3,500.00
			0071	1130	2163501	PARTIAL REMOVAL OF CULVERT-BRIDGE CONCRETE	1.00	0.00	1.00	LS	1.00	\$13,500.00	\$13,500.00				
		0071	1140	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	61.80	0.00	61.80	CUYD	61.80	\$1,300.00	\$80,340.00					
		0071	1150	7040110	EPOXY PRESSURE INJECTING	115.00	0.00	115.00	LF	0.00	\$30.00	\$0.00					
		0071	1160	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	10,640.00	0.00	10,640.00	LB	10,640.00	\$1.45	\$15,428.00					
		0071	1170	7119904	MISC.MOISTURE BARRIER	553.00	0.00	553.00	SQFT	553.00	\$1.25	\$691.25					
		0072	1180	2063300	CLASS 4 EXCAVATION	40.00	0.00	40.00	CUYD	40.00	\$85.00	\$3,400.00					
		0072	1190	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	1.00	\$3,500.00	\$3,500.00					
		0072	1200	2163501	PARTIAL REMOVAL OF CULVERT-BRIDGE CONCRETE	1.00	0.00	1.00	LS	1.00	\$12,000.00	\$12,000.00					
		0072	1210	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	42.40	0.00	42.40	CUYD	42.40	\$1,300.00	\$55,120.00					
		0072	1220	7040110	EPOXY PRESSURE INJECTING	65.00	0.00	65.00	LF	0.00	\$30.00	\$0.00					
		0072	1230	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	6,840.00	0.00	6,840.00	LB	6,840.00	\$1.45	\$9,918.00					
		0072	1240	7119904	MISC.MOISTURE BARRIER	350.00	0.00	350.00	SQFT	350.00	\$1.25	\$437.50					
		0001	5001	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0.00	1,563.90	1,563.90	SQYD	1,563.90	\$95.25	\$148,961.48					
		0001	5002	4039902	MISC.Temp Pavement Shoulder Widening	0.00	1.00	1.00	EA	1.00	\$3,035.98	\$3,035.98					
		0070	5003	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	0.00	1.00	1.00	LS	1.00	\$2,709.00	\$2,709.00					
		0070	5004	7061060	REINFORCING STEEL (BRIDGES)	0.00	735.30	735.30	LB	735.30	\$1.52	\$1,117.66					
Pro	oiect J6				late as of Report Generated Date	0.00	. 55.66	. 30.00		. 55.55	Ψ1.02	\$4,065,399.06					
	S3186	0001	1250	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$7,000.00	\$7,000.00					
		0001	1260	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III FOR	200.00	0.00	200.00	LF	200.00	\$14.00	\$2,800.00					
		0001	1270	3040504	CRASHWORTHY END TERMINALS TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	80.00	0.00	80.00	SQYD	0.00	\$2.00	\$0.00					
			1280	3105003	GRAVEL (A) OR CRUSHED STONE (B)	1,938.00	0.00	1,938.00	SQYD	1,938.00	\$8.00	\$15,504.00					
		0001	1200	3103003	GIVE (A) ON GROOTED STONE (B)	1,330.00	0.00	1,330.00	עושט	1,330.00	φο.υ0	\$10,004.00					

Page 8 of 30 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
181214-F02	J6S3186	0001	1290	4019901	MISC.INFRARED SCANNING	1.00	0.00	1.00	LS	1.00	\$7,500.00	\$7,500.00
		0001	1300	4019901	MISC.INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	1.00	\$20,000.00	\$20,000.00
		0001	1310	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,313.90	0.00	7,313.90	TONS	7,313.90	\$54.00	\$394,950.60
		0001	1320	4071005	TACK COAT	9,720.00	0.00	9,720.00	GAL	4,900.00	\$2.50	\$12,250.00
		0001	1330	5021106	CONCRETE PAVEMENT (6 IN. NON-REINF)	80.00	0.00	80.00	SQYD	0.00	\$165.00	\$0.00
		0001	1340	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1.00	\$0.00
		0001	1350	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	262.80	-132.70	130.10	TONS	130.10	\$37.50	\$4,878.75
		0001	1360	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	790.40	-121.00	669.40	SQYD	669.40	\$85.00	\$56,899.00
		0001	1370	6161005	CONSTRUCTION SIGNS	944.00	0.00	944.00	SQFT	586.00	\$5.00	\$2,930.00
		0001	1380	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	4.00	\$60.00	\$240.00
		0001	1390	6161009	FLAG ASSEMBLY	8.00	0.00	8.00	EA	4.00	\$20.00	\$80.00
		0001	1400	6161025	CHANNELIZER (TRIM LINE)	186.00	0.00	186.00	EA	0.00	\$12.00	\$0.00
		0001	1410	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	12.00	0.00	12.00	EA	0.00	\$1,800.00	\$0.00
		0001	1420	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN CONTRACTOR FURNISHED/MAINTAINED	2.00	0.00	2.00	EA	1.00	\$4,000.00	\$4,000.00
		0001	1430	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$75,000.00	\$75,000.00
		0001	1440	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	11.00	0.00	11.00	LF	0.00	\$20.00	\$0.00
		0001	1450	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	68,651.00	0.00	68,651.00	LF	0.00	\$0.10	\$0.00
		0001	1460	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	62,725.00	0.00	62,725.00	LF	0.00	\$0.10	\$0.00
		0001	1470	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,487.00	0.00	1,487.00	SQYD	248.50	\$15.00	\$3,727.50
		0010	1480	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	475.00	0.00	475.00	LF	475.00	\$29.00	\$13,775.00
		0010	1490	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00
	Project J	6S3186 - To	tal Value	Posted to D	Date as of Report Generated Date							\$627,534.85
81214-F02 Ove	rall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$4,692,933.90

Page 9 of 30 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: J6S3185

	J6S318	<u>, </u>										
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2031000	CLASS A EXCAVATION	8/11/20	8/15/20	830.00	CUYD	New Bridge Channel extra excavation not on the plans	236	Lt & Rt CL			
0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	8/12/20	8/15/20	399.00	TONS	J6S3185 Job - Line 0160 1.5" SL, Log Mile Lt 12.539 to 11.246 = 6, 827 LF, Tons of Surface Leveling was paid 339.0 Tons Line 0180 Tack SS1-H = 113.0 Gallons	12.539	Lt CL	11.246	Lt of CL	
			8/13/20	8/16/20	1,208.00	TONS	J6S3185 Job - Line 0160 1.5" SL, Log Mile Lt 11.246 to 7.809 = 3.369 Miles, Surface Leveling was paid – 1,208.0 Tons Line 0180 Tack SS1-H = 1104.0 Gallons	11.246	Lt CL	7.809	Lt of CL	
			8/15/20	8/16/20	1,495.20	TONS	J6S3185 Job - Line 0160 1.5" SL, Log Mile Lt 12489 to 8.459 = 4.030 Miles, Surface Leveling was paid – 1,495.2 Tons Line 0180 Tack SS1-H = 1500.0 Gallons	12.489	Rt CL	8.459	Rt CL	
0170	4039905	MISC.	8/3/20	8/10/20	5,342.60	SQYD		9.969	Lt & Rt CL	12.538	Lt & Rt of CL	
			8/4/20	8/13/20	7,254.00	SQYD		9.954	Lt CL	5.522	Lt of CL	Log Mile 9.954 to 5.522 = 7.254.0 SY 16,030' x 3 / 9 = 5.342.6 SY for Line #0170. Two Cores were cut – One GC & one QA brought to MoDOT Lab on 84/20 2 Rock Density Checks were conducted – All passed Personnel – 1 Super, 2 Foreman, 6 Operators, 6 Laborres, 3 Police Officers. Equipment – 2 Graders, 2 Broom Self Propel, 12 Ton Roller, 5 Ton Boller, Tack Distributer, Sevice Truck, Widener, 5 F-250 Pick-Ups, 10 Dump Trucks, Skid Steers, 200 Gallons of Tack was used for the shoulder to bond to mainline, this is incidental pay J6S3185 Job Modified Coldmilling (Depth Transitions) Line 0460 Rt TT Station 827.3 SY Pay Today. Personnel – 1 Super, 1 Foreman, 2 Operators, 2 Laborers, 1 Police Officer. Equipment – 2 F-250 Pick-Ups, Wirtcen Mill Machine, Skid Steer
			8/5/20	8/13/20	6,626.20	SQYD	Log Mile 5.522 to 1.527 = 6,626.2 SY for Line 0170 Personnel – 1 Super, 2 Foreman, 6 Operators, 6 Laborers, 3 Police Officers Equipment – 2 Graders, 2 Broom Self Propel, 12 Ton Roller, 5 Ton Roller, Tack Distributer, Service Truck, Widener, 5 F-250 Pick-Ups, 10 Dump Trucks, Skid Steers, Tack was used for the shoulder to bond to mainline, this is incidental pay	5.522	Lt CL	1.527	Lt of CL	
			8/6/20	8/14/20	8,984.00	SQYD		1.527 to 0.862	Lt CL	0.862 to 5.587	Rt CL	Log Mile Lt 1.527 to 0.862 = 1,119.3 and Rt 0.862 to 5.557 = 7,864.0 SY for a total of 8,964.8 SY Line 0170 Personnel – 1 Super. 2 Foreman, 6 Operators, 6 Laborers, 3 Police Officers. Equipment – 2 Graders, 2 Broom Self Propel, 12 Ton Roller, 5 Ton Roller, Tank Distributer, Servico Truck, Widener, 5 F-250 Pick-Ups, 10 Dump Trucks, Skid Steers, Tack was used for the shoulder to bond to mainline, this is incidental pay.
			8/7/20	8/14/20	6,138.00	SQYD	Log Mile Rt 5.587 to 9.087 = 6,138.0 SY Line 0170	5.587	Rt CL	9.087	Rt CL	
0180	4071005	TACK COAT	8/12/20	8/15/20	287.00	GAL	J6S3185 Job - Line 0160 1.5" SL, Log Mile Lt 12.539 to 11.246 = 6, 827 LF, Tons of Surface Leveling was paid 339.0 Tons Line 0180 Tack SS1-H = 113.0 Gallons	12.539	Lt CL	11.246	Lt of CL	
			8/13/20	8/16/20	1,104.00	GAL	J6S3185 Job - Line 0160 1.5" SL, Log Mile Lt.11.246 to 7.809 = 3.369 Miles, Surface Leveling was paid – 1,208.0 Tons Line 0180 Tack SS1-H = 1104.0 Gallons	11.246	Lt CL	7.809	Lt of CL	
			8/15/20	8/16/20	1,500.00	GAL	J6S3185 Job - Line 0160 1.5" SL, Log Mile Lt 12489 to 8.459 = 4.030 Miles, Surface Leveling was paid – 1,495.2 Tons Line 0180 Tack SS1-H = 1500.0 Gallons	12.489	Rt CL	8.459	Rt CL	
0280	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	8/11/20	8/15/20	-1,685.90	SQYD	Pace negotiated a new price for this line item that is on Line 5001					
0380	6181000	MOBILIZATION	8/15/20	8/16/20	0.25	LS		1.90	Lt & Rt CL	661+71	Lt & Rt of CL	
0460	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8/3/20	8/10/20	146.60	SQYD	J6S3185 Job Modified Coldmilling (Depth Transitions) Line 0460 Rt TT Station 44' x 30 = 146.6 SY Pay Today.	12.474			OI CL	
				8/13/20		SQYD	JBS3185. Job Modified Coldmilling (Depth Transitions) Line 0460 Rt TT Station 827.3 SY Pay Today. Personnel – 1 Super, 1 Foreman, 2 Operators, 2 Laborers, 1 Police Officer. Equipment – 2 F-250 Pick-Ups, Wirtcen Mill Machine, Skid Steer JBS3185. Job Modified Coldmilling (Depth Transitions) Line 0460, 690.7 SY Pay Personnel – 1 Super, 1 Foreman, 2 Operators, 2 Laborers, 1 Police Officer. Equipment – 2 F-250 Pick-Ups, Wirtcen Mill Machine,		Lt & Rt CL		Lt & Rt of CL	

Revision 4/1/2020 Page 10 of 30



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0460	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8/6/20	8/14/20	198.50	SQYD		1.899	Lt & Rt CL	0.862	Lt & Rt of CL	J9S3185.Job Modified Coldmilling (Depth Transitions) Line 0460, 198.5 SY Pay Personnel – 1 Super, 1 Foreman, 2 Operators, 2 Laborers. Equipment – 2 F-250 Pick-Ups, Wirtcen Mill Machine, Skid Steer
5001	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	8/11/20	8/15/20	1,563.90	SQYD	Locations and quantities are on Line 0280					
5002	4039902	MISC.	8/11/20	8/15/20	1.00	EA	Pavement Widening for Box Culvert Head wall Removal	416+00	Lt CL			
5003	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	8/11/20	8/15/20	1.00	LS	New Bridge	236	Lt & Rt CL			
5004	7061060	REINFORCING STEEL (BRIDGES)	8/11/20	8/15/20	735.30	LB	Missing Steel On End Bents that Bridge Verified Type, Size and Quantity.	236	Lt & Rt CL			

Line	Item Code	Description	DWR Date	DWR Approval	Quantity Posted	Units	Location	From Station/	Offset/ Distance	To Station/	Offset/ Distance	Comments
umber	Code		Date	Date	rosted			Log Mile	Distance	Log	Distance	
1250	2022010	REMOVAL OF IMPROVEMENTS	8/15/20	8/16/20	1.00	LS	Remove Old Guardrail	13.300	Rt CL	13.850	Rt CL	
1260	2159903	MISC. SHAPING SLOPES	8/13/20	8/15/20	200.00	LF	Route T	13	Rt	13	Rt	Guardrail run on contract #J653186 from log mile 13.3 to 13.407.
1280	3105003	GRAVEL (A) OR CRUSHED STONE (B)	8/13/20	8/16/20	969.00	SQYD	Also had a crew placing Type 5 rock on driveways and entrances on the J6S3186 Job. Line 1280 – Pay Half	19.040	Lt & Rt CL	14.450	Lt & Rt of CL	
							Superintendent, 2 Operators, 4 Laborers					
			8/14/20	8/16/20	969.00	SQYD	Driveways and Entrances	14.500	Lt & Rt CL	12.539	Lt & Rt of CL	
1290	4019901	MISC.	8/14/20	8/16/20	1.00	LS		12.539	Lt & Rt CL	19.040	Lt & Rt of CL	
1300	4019901	MISC.	8/14/20	8/16/20	1.00	LS		12.539	Lt & Rt CL	19.040	Lt & Rt of CL	
1310	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	8/10/20	8/14/20	1,895.90	TONS	Line 1310 1.5" SL,Log Mile Lt 19.040 to 15.662 = 1,895.9	19.040		15.662	Lt of CL	
			8/11/20	8/15/20	1,685.20	TONS	tons Tuesday - Contractor Continued Surface Leveling on the	19.040	Rt CL	15.900	Rt CL	
							J6S3186 portion of the project at 94 and Route T Rt of CL Line 1310 1.5" SLL.0g Mile Lt 19.040 to 15.900 = 3,140 LF, Tons of Surface Leveling was 1.685.15, paid 1685.20 Line 1320 Tack SS1-H = 1200.00 Gallons					
							Super, Foreman, 5 Operators, 5 Laborers & 1 Police.					
			8/12/20	8/15/20	1,767.00	TONS	Line 1310 1.5" SL, Log Mile Lt 15.662 to 12.539 = 3,000 LF, Tons of Surface Leveling was paid 1767.0 Tons	15.662	Lt CL	12.539	Lt of CL	
							Line 1320 Tack SS1-H = 1100.0 Gallons					
			8/14/20	8/16/20	1,965.80	TONS	J6S3186 Job - Line 1310 1.5" SL, Log Mile Lt 15.900 to 12.539 = 3.361 Miles, Surface Leveling was paid – 1,965.8 Tons	15.900	Rt CL	12.539	Rt CL	
							Line 1320 Tack SS1-H = 1400.0 Gallons					
1320	4071005	TACK COAT	8/10/20 8/11/20		1,200.00	GAL	Line 1320 Tack SS1-H = 1200.00 Gallons Tuesday - Contractor Continued Surface Leveling on the	19.040 19.040		15.662	Lt of CL	
			8/11/20	8/15/20	1,200.00	GAL	J6S3186 portion of the project at 94 and Route T Rt of CL Line 1310 1.5" SL,Log Mile Lt 19.040 to 15.900 = 3,140	19.040	KT CL	15.900	RTGL	
							LF , Tons of Surface Leveling was 1,685.15, paid 1685.20 Line 1320 Tack SS1-H = 1200.00 Gallons					
			8/12/20	8/15/20	1,100.00	GAL	Line 1310 1.5" SL, Log Mile Lt 15.662 to 12.539 = 3,000 LF, Tons of Surface Leveling was paid 1767.0 Tons	15.662	Lt CL	12.539	Lt of CL	
							Line 1320 Tack SS1-H = 1100.0 Gallons					
			8/14/20	8/16/20	1,400.00	GAL	J6S3186 Job - Line 1310 1.5" SL, Log Mile Lt 15.900 to 12.539 = 3.361 Miles, Surface Leveling was paid – 1,965.8 Tons	15.900	Rt CL	12.539	Rt CL	
							Line 1320 Tack SS1-H = 1400.0 Gallons					
1370	6161005	CONSTRUCTION SIGNS	8/15/20	8/16/20	586.00	SQFT		19.040	Lt & Rt CL	12.539	Lt & Rt of CL	Construction Signs J\(853186 - 6.5 \) Mile Project 16.00 \(x 4 = 64 \) SF, W-03-4, Be Prepared to Stop 16.00 \(x 4 = 64 \) SF, W-08-11, Uneven Lanes 16.00 \(x 4 = 64 \) SF, W-08-12, No Centerline 16.00 \(x 4 = 64 \) SF, W-020-1, Road Work Ahead 16.00 \(x 4 = 64 \) SF, W020-1, Road Work Ahead 16.00 \(x 4 = 64 \) SF, W020-4, One Lane Road Ahead 16.00 \(x 4 = 64 \) SF, W020-3, Flagger Symbol 4.50 \(x 6 = 27 \) SF, G020-4, Pilot Car Follow Me 8.75 \(x 6 = 55 \) SF, G020-5a, Pilosae Walt for Pilot Car 6.00 \(x 2 = 12 \) SF, G020-5a, Pwork Zone Plaque 12.00 \(x 4 = 84 \) SF, R2-1 Speed Limit Sign 18.00 \(x 2 = 36 \) SF, Const - 7, Rate Our Work Zone 12.00 \(x 2 = 24 \) SF, Const - 8, Work Zone No Phone W SF - 586 Final Pay For Line 1370
1380	6161008	ADVANCED WARNING RAIL SYSTEM	8/15/20	8/16/20	4.00	EA		19.040	Lt & Rt	12.539	Lt & Rt	or = 500 Final Fay For Eine 1570
1390	6161009	FLAG ASSEMBLY	8/15/20		4.00	EA			CL Lt & Rt		of CL Lt & Rt	
									CL	. 2.000	of CL	
		MISC. TRAFFIC CONTROL DEVICES MOBILIZATION	8/15/20		1.00	EA LS	Message Board at 94 & T	19.040	Lt CL Lt & Rt	19.040	I + & D+	
1430	0101000	MOBILIZATION	0/14/20	0/10/20				12.559	CL	19.040	of CL	
1470	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8/3/20	8/10/20	248.50	SQYD	JBS3186. Job Modified Coldmilling (Depth Transitions) Line 1470 Rt 248.5 SY Pay Today. Locations: 94 & T. 85' x 7' = 66.1 SY, County Roads 4 each: Hemset 30.2 SY, Caprine Osage 60.0 SY, Osage Ruge 33.7 SY, Osage Fermi 33.3 SY = 1572. Oriveways 2 Each 14.6 SY & 10.6 SY = 25.2 for a total for J6S3186 = 248.5.	12.539	Lt & Rt CL	19.040	Lt & Rt of CL	
1480	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	8/13/20	8/15/20	475.00	LF	Route T	13	Rt	13	Rt	Guardrail run on contract #J653186 from log mile 13.3 to 13.407.
1490	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)	8/13/20	8/15/20	2.00	FA	Route T	13	Rt	13	Rt	Guardrail run on contract #J653186 from log mile 13.3

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 11 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0070	FURNISHING ROCK FILL	Material		7	Oct 1, 2019	SYSTEM	(\$3,240.44)	
			- Total				(\$3,240.44)	
	Material - Total						(\$3,240.44)	
	FURNISHING ROCK FILL	MaterialCredit		8	Oct 17, 2019	SYSTEM	\$3,240.44	
			- Total				\$3,240.44	
	MaterialCredit - Total						\$3,240.44	
0070 -	Total						\$0.00	
0100	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		25	Jul 1, 2020	SYSTEM	(\$152,810.00)	
				26	Jul 16, 2020	SYSTEM	(\$206,125.50)	
				27	Aug 3, 2020	SYSTEM	(\$207,739.00)	
				28	Aug 17, 2020	SYSTEM	(\$137,739.00)	
				28	Aug 17, 2020	SYSTEM	\$137,739.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user peterr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				(\$566,674.50)	
	Material - Total						(\$566,674.50)	
	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	MaterialCredit		26	Jul 16, 2020	SYSTEM	\$152,810.00	
				27	Aug 3, 2020	SYSTEM	\$206,125.50	
				28	Aug 17, 2020	SYSTEM	\$207,739.00	
			- Total				\$566,674.50	
	MaterialCredit - Total						\$566,674.50	
0100 -							\$0.00	
0130	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Material		9	Nov 4, 2019	SYSTEM	(\$2,340.00)	
				10	Nov 18, 2019	SYSTEM	(\$2,340.00)	
				11	Dec 2, 2019	SYSTEM	(\$66,885.00)	
				12	Dec 16, 2019	SYSTEM	(\$66,885.00)	
				13	Jan 3, 2020	SYSTEM	(\$66,885.00)	
				14	Jan 16, 2020	SYSTEM	(\$66,885.00)	
				15	Feb 3, 2020	SYSTEM	(\$66,885.00)	
				16	Feb 18, 2020	SYSTEM	(\$66,885.00)	
				17	Mar 2, 2020	SYSTEM	(\$66,885.00)	
				18	Mar 16, 2020	SYSTEM	(\$66,885.00)	
				19	Apr 2, 2020	SYSTEM	(\$66,885.00)	
				20	Apr 16, 2020	SYSTEM	(\$66,885.00)	
				21	May 4, 2020	SYSTEM	(\$66,885.00)	
				22	May 18, 2020	SYSTEM	(\$66,885.00)	
				23	Jun 2, 2020	SYSTEM	(\$66,885.00)	

Revision 4/1/2020 Page 12 of 30



2020 Payment Estimate Item Adjustment (Opto) dues to usery Centrolis.	Description A	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
PG64-22 (BASE)	MINOUS PAVEMENT MIXTURE Ma	RE Material	Type		2020			
2000 27 Ag 3 SYSTEM (\$06,885.00) This adjustment officels the original system-ponerated C				25	Jul 1,	SYSTEM	(\$66,885.00)	
2020 27				26		SYSTEM	(\$66,885.00)	
2020 Payment Estimate Item Adjustiment (Ordor due to user Estimate)				27		SYSTEM	(\$66,885.00)	
28				27		SYSTEM	\$66,885.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user peterr1 overridding Payment Estimate Exception 3 on the current Paymen Estimate.
Payament Estimate term Adjustment (0016) due to usery Estimate				28		SYSTEM	(\$66,885.00)	
Material - Total				28	Aug 17, 2020	SYSTEM	\$66,885.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user peterr1 overridding Payment Estimate Exception 2 on the current Paymer Estimate.
BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) MaterialCredit			- Total				(\$1,074,840.00)	
2019 11 Doc 2, 2018 52,340.00 12 Dec 16, SYSTEM \$2,340.00 13 Jan 3, 2020 14 Jan 16, SYSTEM \$66,885.00 15 Feb 3, SYSTEM \$66,885.00 15 Feb 3, SYSTEM \$66,885.00 16 Feb 18, SYSTEM \$66,885.00 17 Zozo	al - Total						(\$1,074,840.00)	
2019 12				10		SYSTEM	\$2,340.00	
2019 13				11		SYSTEM	\$2,340.00	
14				12			\$66,885.00	
15					2020			
16					2020			
17 Mar 2, SYSTEM \$66,885.00 18 Mar 16, SYSTEM \$66,885.00 19 Apr 2, 2020 20 Apr 16, SYSTEM \$66,885.00 21 May 4, SYSTEM \$66,885.00 21 May 4, SYSTEM \$66,885.00 22 May 18, SYSTEM \$66,885.00 23 Jun 2, SYSTEM \$66,885.00 24 Jun 15, SYSTEM \$66,885.00 25 Jul 1, SYSTEM \$66,885.00 26 Jul 16, SYSTEM \$66,885.00 27 Aug 3, SYSTEM \$66,885.00 28 Jul 16, SYSTEM \$66,885.00 29 Jul 16, SYSTEM \$66,885.00 20 Jul 16, SYSTEM \$66,885.00 20 Jul 16, SYSTEM \$66,885.00 20 Jul 17, SYSTEM \$66,885.00 20 Jul 18, SYSTEM \$66,885.00 20 Jul 19, SYSTEM \$66,885.00 3 Jul 19, SYSTEM \$66,885.00 3 Jul 19, SYSTEM \$66,885.00 3 Jul 19, SYSTEM \$66,885.00 4 Jul 19, SYSTEM \$66,885.00 5 Jul 19, SYSTEM \$66,885.00 6 Jul 19, SYSTEM \$66,885.00 6 Jul 19, SYSTEM \$66,885.00 7 Jul 19, SYSTEM \$66,885.00 8 Jul 19, SYSTEM \$66,88					2020			
18					2020			
2020 19					2020			
2020					2020			
2020					2020			
2020					2020			
23 Jun 2, 2020 SYSTEM \$66,885.00 24 Jun 15, 2020 SYSTEM \$66,885.00 25 Jul 1, 2020 SYSTEM \$66,885.00 26 Jul 16, 2020 SYSTEM \$66,885.00 27 Aug 3, 2020 SYSTEM \$66,885.00 27 Aug 3, 2020 SYSTEM \$66,885.00 28 Jun 16, 2020 SYSTEM \$66,885.00 29 Jun 16, 2020 SYSTEM \$66,885.00 20 Jun 16, 2020 SYSTEM \$66,885.00 30 Jun 16, 2020 SYSTEM \$66,885.00 40 Jun 16, 2020 SYSTEM \$66,885.00 50 Jun 16, 2020 SYSTEM SE6,885.00 50 Jun 16, 2020 SYSTEM SE6,885.00 SYSTEM SE6,885.00 50 Jun 16, 2020 SYSTEM SE6,885.00 SYSTEM				22	2020 May 18,			
24				23	Jun 2,	SYSTEM	\$66,885.00	
25				24	Jun 15,	SYSTEM	\$66,885.00	
26				25	Jul 1,	SYSTEM	\$66,885.00	
27				26	Jul 16,	SYSTEM	\$66,885.00	
MaterialCredit - Total \$1,074,840.00 BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Other Item Adjustment ACAD 22 May 18, 2020 peterr1 (\$285.55) Estimate 0022, ACAD adjustment for BB, 514.50 Tons November 2019! ACAD - Total (\$285.55) BITUMINOUS PAVEMENT MIXTURE PPPS 13 Jan 3, peterr1 \$66,885.00 Small quantities of Asphalt was used to tie roadway into				27	Aug 3,	SYSTEM	\$66,885.00	
MaterialCredit - Total BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) ACAD 22 May 18, 2020 peterr1 (\$285.55) Estimate 0022, ACAD adjustment for BB, 514.50 Tons November 2019! ACAD - Total (\$285.55) BITUMINOUS PAVEMENT MIXTURE PPS 13 Jan 3, peterr1 \$66,885.00 Small quantities of Asphalt was used to tie roadway into			- Total				\$1,074,840.00	
BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Other Item Adjustment ACAD 22 May 18, 2020 peterr1 (\$285.55) Estimate 0022, ACAD adjustment for BB, 514.50 Tons November 2019! ACAD - Total (\$285.55) BITUMINOUS PAVEMENT MIXTURE PPPS 13 Jan 3, peterr1 \$66,885.00 Small quantities of Asphalt was used to tie roadway into	alCredit - Total							
BITUMINOUS PAVEMENT MIXTURE PPPS 13 Jan 3, peterr1 \$66,885.00 Small quantities of Asphalt was used to tie roadway into	MINOUS PAVEMENT MIXTURE Oth		ACAD	22		peterr1		Estimate 0022, ACAD adjustment for BB, 514.50 Tons for November 2019!
			ACAD - Tota	al			(\$285.55)	
PG64-22 (BASE) 2020 Required testing will be completed when Asphalt work begins in the Spring.	MINOUS PAVEMENT MIXTURE PG64-22 (BASE)		PPPS	13	Jan 3, 2020	peterr1	\$66,885.00	Small quantities of Asphalt was used to tie roadway into new Brid Required testing will be completed when Asphalt work begins in the Spring.
PPPS - Total \$66,885.00			PPPS - Tota	ıl			\$66,885.00	

Revision 4/1/2020 Page 13 of 30



		Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks											
0130	Other Item Adjustment - Total						\$66,599.45												
0130 - 1	Total						\$66,599.45												
0160	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		28	Aug 17, 2020	SYSTEM	(\$167,518.80)												
			- Total	28	Aug 17, 2020	SYSTEM	\$167,518.80 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user peterr1 overridding Payment Estimate Exception 4 on the current Payment Estimate.											
	Material - Total		- IOIai				\$0.00												
0160 - 1							\$0.00												
0170	MISC. OPTIONAL PAVEMENT &	Material		11	Dec 2,	SYSTEM	(\$8,922.50)												
	SHOULDER			12	2019 Dec 16,	SYSTEM	(\$8,922.50)												
					2019														
				13	Jan 3, 2020	SYSTEM	(\$8,922.50)												
				14	Jan 16, 2020	SYSTEM	(\$8,922.50)												
				15	Feb 3, 2020	SYSTEM	(\$8,922.50)												
				16	Feb 18, 2020	SYSTEM	(\$8,922.50)												
								17	Mar 2, 2020	SYSTEM	(\$8,922.50)								
				18	Mar 16, 2020	SYSTEM	(\$8,922.50)												
				19	Apr 2, 2020	SYSTEM	(\$8,922.50)												
															20	Apr 16, 2020	SYSTEM	(\$8,922.50)	
														21	May 4, 2020	SYSTEM	(\$8,922.50)		
				22	May 18, 2020	SYSTEM	(\$8,922.50)												
						23	Jun 2, 2020	SYSTEM	(\$8,922.50)										
											24	Jun 15, 2020	SYSTEM	(\$8,922.50)					
						25	Jul 1, 2020	SYSTEM	(\$8,922.50)										
				26	Jul 16, 2020	SYSTEM	(\$8,922.50)												
				27	Aug 3, 2020	SYSTEM	(\$127,546.60)												
															27	Aug 3, 2020	SYSTEM	\$127,546.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user peterr1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				28	Aug 17, 2020	SYSTEM	(\$865,959.80)												
				28	Aug 17, 2020	SYSTEM	\$865,959.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user peterr1 overridding Payment Estimate Exception 5 on the current Payment Estimate.											
			- Total				(\$142,760.00)												
	Material - Total						(\$142,760.00)												
	MISC. OPTIONAL PAVEMENT & SHOULDER	MaterialCredit		12	Dec 16, 2019	SYSTEM	\$8,922.50												
				13	Jan 3, 2020	SYSTEM	\$8,922.50												
				14	Jan 16, 2020	SYSTEM	\$8,922.50												
				15	Feb 3, 2020	SYSTEM	\$8,922.50												

Revision 4/1/2020 Page 14 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0170	MISC. OPTIONAL PAVEMENT & SHOULDER	MaterialCredit		16	Feb 18, 2020	SYSTEM	\$8,922.50	
				17	Mar 2, 2020	SYSTEM	\$8,922.50	
				18	Mar 16, 2020	SYSTEM	\$8,922.50	
				19	Apr 2, 2020	SYSTEM	\$8,922.50	
				20	Apr 16, 2020	SYSTEM	\$8,922.50	
				21	May 4, 2020	SYSTEM	\$8,922.50	
				22	May 18, 2020	SYSTEM	\$8,922.50	
				23	Jun 2, 2020	SYSTEM	\$8,922.50	
				24	Jun 15, 2020	SYSTEM	\$8,922.50	
				25	Jul 1, 2020	SYSTEM	\$8,922.50	
				26	Jul 16, 2020	SYSTEM	\$8,922.50	
				27	Aug 3, 2020	SYSTEM	\$8,922.50	
			- Total				\$142,760.00	
	MaterialCredit - Total						\$142,760.00	
	MISC. OPTIONAL PAVEMENT & SHOULDER	Other Item Adjustment	ACAD	22	May 18, 2020	peterr1	(\$79.17)	Estimate 0022, ACAD adjustment for BB, 415 SqYds of Shoulder at new Bridge
			ACAD - Tota	al			(\$79.17)	
	MISC. OPTIONAL PAVEMENT & SHOULDER		PPPS	13	Jan 3, 2020	peterr1	\$8,922.50	Small quantities of Asphalt was used to tie roadway into new Bridge, Required testing will be completed when Asphalt work begins in the Spring.
			PPPS - Tota	ıl			\$8,922.50	
	Other Item Adjustment - Total						\$8,843.33	
0170	- Total						\$8,843.33	
0220	ROCK LINING	Material		7	Oct 1, 2019	SYSTEM	(\$760.50)	
				8	Oct 17, 2019	SYSTEM	(\$1,389.96)	
			- Total				(\$2,150.46)	
	Material - Total						(\$2,150.46)	
	ROCK LINING	MaterialCredit		8	Oct 17, 2019	SYSTEM	\$760.50	
				9	Nov 4, 2019	SYSTEM	\$1,389.96	
			- Total				\$2,150.46	
	MaterialCredit - Total						\$2,150.46	
0220	- Total						\$0.00	
0240	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	Material		7	Oct 1, 2019	SYSTEM	(\$404.25)	
				8	Oct 17, 2019	SYSTEM	(\$780.45)	
				9	Nov 4, 2019	SYSTEM	(\$1,244.10)	
				10	Nov 18, 2019	SYSTEM	(\$1,392.60)	
				11	Dec 2, 2019	SYSTEM	(\$1,392.60)	
				12	Dec 16, 2019	SYSTEM	(\$1,392.60)	
			- Total				(\$6,606.60)	
	Material - Total						(\$6,606.60)	

Revision 4/1/2020 Page 15 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks										
0240	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	MaterialCredit		8	Oct 17, 2019	SYSTEM	\$404.25											
				9	Nov 4, 2019	SYSTEM	\$780.45											
				10	Nov 18, 2019	SYSTEM	\$1,244.10											
				11	Dec 2, 2019	SYSTEM	\$1,392.60											
				12	Dec 16, 2019	SYSTEM	\$1,392.60											
				13	Jan 3, 2020	SYSTEM	\$1,392.60											
			- Total				\$6,606.60											
	MaterialCredit - Total						\$6,606.60											
0240 -							\$0.00											
0250	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	Material		7	Oct 1, 2019	SYSTEM	(\$214.25)											
	·			8	Oct 17, 2019	SYSTEM	(\$415.75)											
				9	Nov 4, 2019	SYSTEM	(\$626.50)											
				10	Nov 18, 2019	SYSTEM	(\$694.00)											
				11	Dec 2, 2019	SYSTEM	(\$694.00)											
				12	Dec 16, 2019	SYSTEM	(\$694.00)											
				13	Jan 3, 2020	SYSTEM	(\$694.00)											
				14	Jan 16, 2020	SYSTEM	(\$694.00)											
				15	Feb 3, 2020	SYSTEM	(\$695.00)											
				16	Feb 18, 2020	SYSTEM	(\$695.00)											
				17	Mar 2, 2020	SYSTEM	(\$695.00)											
				18	Mar 16, 2020	SYSTEM	(\$695.00)											
				19	Apr 2, 2020	SYSTEM	(\$695.00)											
				20	Apr 16, 2020	SYSTEM	(\$695.00)											
				21	May 4, 2020	SYSTEM	(\$695.00)											
									22	May 18, 2020	SYSTEM	(\$695.00)						
							23	Jun 2, 2020	SYSTEM	(\$695.00)								
														24	Jun 15, 2020	SYSTEM	(\$695.00)	
								25	Jul 1, 2020	SYSTEM	(\$695.00)							
				26	Jul 16, 2020	SYSTEM	(\$695.00)											
			- Total				(\$13,066.50)											
	Material - Total						(\$13,066.50)											
	BASE (4 IN. THICK) (PAVEMENT	MaterialCredit		8	Oct 17, 2019	SYSTEM	\$214.25											
	REPAIR)			9	Nov 4, 2019	SYSTEM	\$415.75											
				10	Nov 18, 2019	SYSTEM	\$626.50											

Revision 4/1/2020 Page 16 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0250	BASE (4 IN. THICK) (PAVEMENT	MaterialCredit		11	Dec 2, 2019	SYSTEM	\$694.00	
	REPAIR)			12	Dec 16, 2019	SYSTEM	\$694.00	
				13	Jan 3, 2020	SYSTEM	\$694.00	
				14	Jan 16, 2020	SYSTEM	\$694.00	
				15	Feb 3, 2020	SYSTEM	\$694.00	
				16	Feb 18, 2020	SYSTEM	\$695.00	
				17	Mar 2, 2020	SYSTEM	\$695.00	
				18	Mar 16, 2020	SYSTEM	\$695.00	
				19	Apr 2, 2020	SYSTEM	\$695.00	
				20	Apr 16, 2020	SYSTEM	\$695.00	
				21	May 4, 2020	SYSTEM	\$695.00	
				22	May 18, 2020	SYSTEM	\$695.00	
				23	Jun 2, 2020	SYSTEM	\$695.00	
				24	Jun 15, 2020	SYSTEM	\$695.00	
				25	Jul 1, 2020	SYSTEM	\$695.00	
				26	Jul 16, 2020	SYSTEM	\$695.00	
				27	Aug 3, 2020	SYSTEM	\$695.00	
			- Total				\$13,066.50	
0250 -	MaterialCredit - Total - Total						\$13,066.50 \$0.00	
0270	BITUMINOUS MATERIAL FOR	Material		20	Apr 16, 2020	SYSTEM	(\$2,422.50)	
	CLASS C PARTIAL DEPTH PAVEMENT REPAIR			21	May 4, 2020	SYSTEM	(\$10,788.75)	
			- Total				(\$13,211.25)	
	Material - Total						(\$13,211.25)	
	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH	MaterialCredit		21	May 4, 2020	SYSTEM	\$2,422.50	
	PAVEMENT REPAIR			22	May 18, 2020	SYSTEM	\$10,788.75	
			- Total				\$13,211.25	
	MaterialCredit - Total FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH	Other Item Adjustment	ACAD	22	May 18, 2020	peterr1	\$13,211.25 (\$292.73)	Estimate 0022, ACAD adjustment for BB, 287.70 Tons for April, 2020!
	PAVEMENT REPAIR		ACAD - Tota	al			(\$292.73)	
	Other Item Adjustment Total		ACAD - Tota	ai			<u> </u>	
0270	Other Item Adjustment - Total - Total						(\$292.73)	
0300	MISC. FURNISH AND PLACE MATERIAL FOR FULL DEPTH PVMT	Other Item Adjustment	ACAD	22	May 18, 2020	peterr1	(\$292.73) \$17.44	Estimate 0022, ACAD adjustment for BB, 29.0 Tons!
	REPAIR	, ajaounon		22	May 18, 2020	peterr1	\$55.22	Estimate 0022, ACAD adjustment for BB, 119.40 Tons for October 2019!
				22	May 18, 2020	peterr1	(\$16.65)	Estimate 0022, ACAD adjustment for BB, 30.00 Tons for November 2019!
			ACAD - Tota				\$56.01	

Revision 4/1/2020 Page 17 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0300	Other Item Adjustment - Total						\$56.01	
	MISC. FURNISH AND PLACE MATERIAL FOR FULL DEPTH PVMT REPAIR	Overrun	Overrun	8	Oct 17, 2019	SYSTEM	(\$1,495.00)	
			Overrun - T	otal			(\$1,495.00)	
	Overrun - Total						(\$1,495.00)	
0300 -	Total						(\$1,438.99)	
0310	CONSTRUCTION SIGNS	Material		1	Jul 2, 2019	SYSTEM	(\$2,180.00)	
			- Total				(\$2,180.00)	
	Material - Total				1 1 10	0) (0==1.1	(\$2,180.00)	
	CONSTRUCTION SIGNS	MaterialCredit		2	Jul 16, 2019	SYSTEM	\$2,180.00	
			- Total				\$2,180.00	
	MaterialCredit - Total						\$2,180.00	
0310 -						0) (0)	\$0.00	
0330	FLAG ASSEMBLY	Material		1	Jul 2, 2019	SYSTEM	(\$80.00)	
			- Total				(\$80.00)	
	Material - Total						(\$80.00)	
	FLAG ASSEMBLY	MaterialCredit		2	Jul 16, 2019	SYSTEM	\$80.00	
			- Total				\$80.00	
	MaterialCredit - Total						\$80.00	
0330 -	Total						\$0.00	
0350	TYPE III MOVEABLE BARRICADE	Material		6	Sep 16, 2019	SYSTEM	(\$1,250.00)	
				7	Oct 1, 2019	SYSTEM	(\$1,250.00)	
				8	Oct 17, 2019	SYSTEM	(\$1,250.00)	
			- Total				(\$3,750.00)	
	Material - Total						(\$3,750.00)	
	TYPE III MOVEABLE BARRICADE	MaterialCredit		7	Oct 1, 2019	SYSTEM	\$1,250.00	
				8	Oct 17, 2019	SYSTEM	\$1,250.00	
				9	Nov 4, 2019	SYSTEM	\$1,250.00	
			- Total				\$3,750.00	
	MaterialCredit - Total						\$3,750.00	
0350 -							\$0.00	
0400	PAVEMENT EDGE TREATMENT	Material		25	Jul 1, 2020	SYSTEM	(\$873.27)	
			- Total				(\$873.27)	
	Material - Total						(\$873.27)	
	PAVEMENT EDGE TREATMENT	MaterialCredit		26	Jul 16, 2020	SYSTEM	\$873.27	
			- Total				\$873.27	
	MaterialCredit - Total						\$873.27	
0400 -	Total						\$0.00	
0470	PERMANENT EROSION CONTROL GEOTEXTILE	Material		5	Sep 3, 2019	SYSTEM	(\$293.37)	
				6	Sep 16, 2019	SYSTEM	(\$293.37)	
				7	Oct 1, 2019	SYSTEM	(\$293.37)	
				8	Oct 17, 2019	SYSTEM	(\$293.37)	

Revision 4/1/2020 Page 18 of 30



Lina	Dogorintian	Adiuotecant	Other	E-t	Crostad	Crosted	Amerint	Domestre
Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0470	PERMANENT EROSION CONTROL GEOTEXTILE	Material		9	Nov 4, 2019	SYSTEM	(\$293.37)	
			- Total				(\$1,466.85)	
	Material - Total						(\$1,466.85)	
	PERMANENT EROSION CONTROL GEOTEXTILE	MaterialCredit		6	Sep 16, 2019	SYSTEM	\$293.37	
				7	Oct 1, 2019	SYSTEM	\$293.37	
				8	Oct 17, 2019	SYSTEM	\$293.37	
				9	Nov 4, 2019	SYSTEM	\$293.37	
				10	Nov 18, 2019	SYSTEM	\$293.37	
			- Total				\$1,466.85	
	MaterialCredit - Total						\$1,466.85	
0470 -						2)12==	\$0.00	
0480	SEPARATION GEOTEXTILE	Material		7	Oct 1, 2019	SYSTEM	(\$647.96)	
				8	Oct 17, 2019	SYSTEM	(\$1,666.00)	
			- Total	9	Nov 4, 2019	SYSTEM	(\$486.26) (\$2,800.22)	
	Metadal Tatal		- Iotai				· · · · · · · · · · · · · · · · · · ·	
	Material - Total	MatarialCradit		0	Oat 17	CVCTEM	(\$2,800.22)	
	SEPARATION GEOTEXTILE	MaterialCredit		8	Oct 17, 2019	SYSTEM	\$647.96	
				9	Nov 4, 2019	SYSTEM	\$1,666.00	
			- Total	10	Nov 18, 2019	SYSTEM	\$486.26 \$2,800.22	
	MaterialCredit - Total		Total				\$2,800.22	
	SEPARATION GEOTEXTILE	Overrun	Overrun	8	Oct 17,	SYSTEM	\$115.01	This adjustment offsets the original system-generated Overrun
					2019		¥ 1 1 2 1 2 1	Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 33 on the current Payment Estimate.
				8	Oct 17, 2019	SYSTEM	(\$115.01)	
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0480 -						211	\$0.00	
0530	CLASS B-1 CONCRETE	Material		17	Mar 2, 2020	SYSTEM	(\$28,441.00)	
			T-4-1	18	Mar 16, 2020	SYSTEM	(\$70,146.50)	
	Material Total		- Total				(\$98,587.50)	
	Material - Total	MatarialOne		10	Max 40	CVCTEN	(\$98,587.50)	
	CLASS B-1 CONCRETE	waterialCredit		18	Mar 16, 2020	SYSTEM	\$28,441.00	
			Total	19	Apr 2, 2020	SYSTEM	\$70,146.50	
	Matarial Credit Tatal		- Total				\$98,587.50	
	MaterialCredit - Total CLASS B-1 CONCRETE	Other Item Adjustment	MDPA	18	Mar 16, 2020	peterr1	\$98,587.50 \$50,000.00	Contractor has had numerous concrete pours on the first four small culvert box extensions.
		,						All concrete test have passes and we are waiting on the 28 day cylinder results to clear all discrepancies. Once I have results and discrepancies are cleared I will remove this line item adjustment. (peterr1)
				19	Apr 2, 2020	peterr1	(\$50,000.00)	On estimate 0018 I paid \$50, 000 dollars on Line 0530 because we did not have the 28 day cylinder test results back to clear the discrepancy. The 7 day break passed and I did not want to hold up the contractors

Revision 4/1/2020 Page 19 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0530	CLASS B-1 CONCRETE	Other Item Adjustment	MDPA					money for the 28 day test. The results for the 28 Day has been received and passed and all sample ID's clearing the discrepancy and releasing the money withheld. This deduct is recovering the money I adjusted on Estimate 0018 (peterr1).
			MDPA - Tota	al			\$0.00	
0500	Other Item Adjustment - Total						\$0.00	
0530 - 0540	REINFORCING STEEL (CULVERTS)	Material		17	Mar 2,	SYSTEM	\$0.00 (\$7,220.00)	
0040	NEIN ONOING OTELE (COLVENTO)	Waterial		18	2020 Mar 16,	SYSTEM	(\$17,860.00)	
					2020			
				19	Apr 2, 2020	SYSTEM	(\$19,680.00)	
				20	Apr 16, 2020	SYSTEM	(\$29,454.00)	
				21	May 4, 2020	SYSTEM	(\$32,162.00)	
				22	May 18, 2020	SYSTEM	(\$37,190.00)	
				23	Jun 2, 2020	SYSTEM	(\$38,240.00)	
				24	Jun 15, 2020	SYSTEM	(\$38,240.00)	
				25	Jul 1, 2020	SYSTEM	(\$38,240.00)	
				26	Jul 16, 2020	SYSTEM	(\$38,240.00)	
			- Total				(\$296,526.00)	
	Material - Total						(\$296,526.00)	
	REINFORCING STEEL (CULVERTS)	MaterialCredit		18	Mar 16, 2020	SYSTEM	\$7,220.00	
				19	Apr 2, 2020	SYSTEM	\$17,860.00	
				20	Apr 16, 2020	SYSTEM	\$19,680.00	
				21	May 4, 2020	SYSTEM	\$29,454.00	
				22	May 18, 2020	SYSTEM	\$32,162.00	
				23	Jun 2, 2020	SYSTEM	\$37,190.00	
				24	Jun 15, 2020	SYSTEM	\$38,240.00	
				25	Jul 1, 2020	SYSTEM	\$38,240.00	
				26	Jul 16, 2020	SYSTEM	\$38,240.00	
				27	Aug 3, 2020	SYSTEM	\$38,240.00	
			- Total				\$296,526.00	
	MaterialCredit - Total						\$296,526.00	
0540 -	Total						\$0.00	
0550	12 IN. PIPE GROUP C	Material		8	Oct 17, 2019	SYSTEM	(\$1,600.00)	
				9	Nov 4, 2019	SYSTEM	(\$1,600.00)	
			- Total				(\$3,200.00)	
	Material - Total						(\$3,200.00)	
	12 IN. PIPE GROUP C	MaterialCredit		9	Nov 4, 2019	SYSTEM	\$1,600.00	
				10	Nov 18,	SYSTEM	\$1,600.00	

Revision 4/1/2020 Page 20 of 30



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
20	2000.1.puo.1	Туре	Adjustment Type	Number	Date	Ву	, undunt	, containe
0550	12 IN. PIPE GROUP C	MaterialCredit			2019			
			- Total				\$3,200.00	
	MaterialCredit - Total						\$3,200.00	
0550 -	Total						\$0.00	
0560	15 IN. PIPE GROUP C	Material		8	Oct 17, 2019	SYSTEM	(\$12,015.00)	
				9	Nov 4, 2019	SYSTEM	(\$25,335.00)	
			- Total				(\$37,350.00)	
	Material - Total						(\$37,350.00)	
	15 IN. PIPE GROUP C	MaterialCredit		9	Nov 4, 2019	SYSTEM	\$12,015.00	
				10	Nov 18, 2019	SYSTEM	\$25,335.00	
			- Total				\$37,350.00	
	MaterialCredit - Total						\$37,350.00	
	15 IN. PIPE GROUP C	Other Item Adjustment	MATL	15	Feb 3, 2020	peterr1	\$3,656.80	This adjustment is for left over pipe material that was purchased for the project however was not needed because of field changes by MoDOT. The material was picked up by St. Charles Maintenance Facility for MoDOT use at the price of the material only, not the contract price. 15" Group C Pipe - 560 LF @ \$6.53 for a total for this line item of
								\$3,656.80 Supplier information send to the contractor for prices is filed in e-projects documents.
			MATL - Tota	al			\$3,656.80	
	Other Item Adjustment - Total						\$3,656.80	
0560 -	Total						\$3,656.80	
0570	18 IN. PIPE GROUP C	Material		8	Oct 17,	SYSTEM	(\$6,950.00)	
				9	2019 Nov 4,	SYSTEM	(\$13,850.00)	
					2019			
			- Total				(\$20,800.00)	
	Material - Total						(\$20,800.00)	
	18 IN. PIPE GROUP C	MaterialCredit		9	Nov 4, 2019	SYSTEM	\$6,950.00	
				10	Nov 18, 2019	SYSTEM	\$13,850.00	
			- Total				\$20,800.00	
	MaterialCredit - Total						\$20,800.00	
	18 IN. PIPE GROUP C	Other Item Adjustment	MATL	15	Feb 3, 2020	peterr1	\$1,232.00	This adjustment is for left over pipe material that was purchased for the project however was not needed because of field changes by MoDOT. The material was picked up by St. Charles Maintenance Facility for MoDOT use at the price of the material only, not the contract price. 18" Group C Pipe - 140 LF @ \$8.80 for a total for this line item of \$1,232.00 Supplier information send to the contractor for prices is filed in e-projects documents.
			MATL - Tota	al			\$1,232.00	
	Other Item Adjustment - Total						\$1,232.00	
0570 -							\$1,232.00	
0590	24 IN. PIPE GROUP C	Other Item Adjustment	MATL	15	Feb 3, 2020	peterr1	\$1,441.00	This adjustment is for left over pipe material that was purchased for the project however was not needed because of field changes by MoDOT. The material was picked up by St. Charles Maintenance Facility for MoDOT use at the price of the material only, not the contract price. 24" Group C Pipe - 100 LF @ \$14.41 for a total for this line item of \$1,441.00 supplier information send to the contractor for prices is filed in e-projects documents.
			MATL - Tota	1			\$1,441.00	F1
	Other Item Adjustment - Total		MIATE - TOLO				\$1,441.00	
	Other item Adjustment - Total						\$1,441.00	

Revision 4/1/2020 Page 21 of 30



	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0590	- Total						\$1,441.00	
0610	18 IN. PIPE GROUP A	Material		7	Oct 1, 2019	SYSTEM	(\$10,873.00)	
				8	Oct 17, 2019	SYSTEM	(\$20,335.00)	
				9	Nov 4, 2019	SYSTEM	(\$37,765.00)	
			- Total				(\$68,973.00)	
	Material - Total						(\$68,973.00)	
	18 IN. PIPE GROUP A	MaterialCredit		8	Oct 17, 2019	SYSTEM	\$10,873.00	
				9	Nov 4, 2019	SYSTEM	\$20,335.00	
				10	Nov 18, 2019	SYSTEM	\$37,765.00	
			- Total				\$68,973.00	
	MaterialCredit - Total						\$68,973.00	
	- Total						\$0.00	
0620	21 IN. PIPE GROUP A	Material		8	Oct 17, 2019	SYSTEM	(\$7,928.25)	
				9	Nov 4, 2019	SYSTEM	(\$7,928.25)	
			- Total				(\$15,856.50)	
	Material - Total						(\$15,856.50)	
	21 IN. PIPE GROUP A	MaterialCredit		9	Nov 4, 2019	SYSTEM	\$7,928.25	
				10	Nov 18, 2019	SYSTEM	\$7,928.25	
			- Total				\$15,856.50	
	MaterialCredit - Total						\$15,856.50	
0620 -	- Total						\$0.00	
0630	24 IN. PIPE GROUP A	Material		7	Oct 1, 2019	SYSTEM	(\$7,760.00)	
				8	Oct 17, 2019	SYSTEM	(\$15,617.00)	
				9	2019 Nov 4, 2019	SYSTEM	(\$15,617.00) (\$19,497.00)	
				9	2019 Nov 4,	SYSTEM SYSTEM		
				9 16 17	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020	SYSTEM SYSTEM SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00)	
				9 16 17 18	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Mar 16, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	
				9 16 17 18	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Mar 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00)	
				9 16 17 18	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Mar 16, 2020 Apr 2,	SYSTEM SYSTEM SYSTEM SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	
				9 16 17 18	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Mar 16, 2020 Apr 2, 2020 Apr 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	
				9 16 17 18 19 20	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Mar 16, 2020 Apr 2, 2020 Apr 16, 2020 May 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	
				9 16 17 18 19 20 21	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Mar 16, 2020 Apr 2, 2020 May 4, 2020 May 18,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	
				9 16 17 18 19 20 21	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Mar 16, 2020 Apr 2, 2020 Apr 16, 2020 May 4, 2020 May 18, 2020 Jun 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	
				9 16 17 18 19 20 21 22 23	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Mar 16, 2020 Apr 2, 2020 Apr 16, 2020 Apr 16, 2020 Jun 2, 2020 Jun 2, 2020 Jun 15,	SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	
			- Total	9 16 17 18 19 20 21 22 23	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Apr 2, 2020 Apr 16, 2020 May 4, 2020 May 18, 2020 Jun 2, 2020 Jun 15, 2020 Jul 1,	SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	
	Material - Total		- Total	9 16 17 18 19 20 21 22 23	2019 Nov 4, 2019 Feb 18, 2020 Mar 2, 2020 Apr 2, 2020 Apr 16, 2020 May 4, 2020 May 18, 2020 Jun 2, 2020 Jun 15, 2020 Jul 1,	SYSTEM	(\$19,497.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00) (\$28,518.00)	

Revision 4/1/2020 Page 22 of 30



Description Application									
April	Line	Description		Adjustment				Amount	Remarks
17	0630	24 IN. PIPE GROUP A	MaterialCredit		9		SYSTEM	\$15,617.00	
18					10		SYSTEM	\$19,497.00	
19					17		SYSTEM	\$28,518.00	
200					18		SYSTEM	\$28,518.00	
2000					19		SYSTEM	\$28,518.00	
200					20		SYSTEM	\$28,518.00	
Material Total					21	May 4, 2020	SYSTEM	\$28,518.00	
24 Jun 16, 2000 28 28,518.00 2					22	May 18,	SYSTEM	\$28,518.00	
24					23		SYSTEM	\$28,518.00	
25					24	Jun 15,	SYSTEM	\$28,518.00	
26					25	Jul 1,	SYSTEM	\$28,518.00	
Material - Total S28,094.00 S328,094.00 S328,094.0					26	Jul 16,	SYSTEM	\$28,518.00	
Material - Total S 228.054.00 S 200.054.00 S 200.00 S 200.0				- Total				\$328,054.00	
		MaterialCredit - Total							
	0630 -	Total							
2019 9 Nov 4, 2975EM (\$7,700.00)	0640	30 IN. PIPE GROUP A	Material		7		SYSTEM		
					8		SYSTEM	(\$7,700.00)	
Material - Total					9		SYSTEM	(\$7,700.00)	
System \$7,700.00				- Total				(\$23,100.00)	
2019 9 Nov 4, 2019 SYSTEM \$7,700.00		Material - Total						(\$23,100.00)	
2019 10 Nov 18, SYSTEM \$7,700.00		30 IN. PIPE GROUP A	MaterialCredit		8		SYSTEM	\$7,700.00	
MaterialCredit - Total S23,100.00					9		SYSTEM	\$7,700.00	
Material Credit - Total S23,100.00					10		SYSTEM	\$7,700.00	
Note Superior Su				- Total				\$23,100.00	
Material - Total 9		MaterialCredit - Total						\$23,100.00	
2019	0640 -	Total						\$0.00	
Material - Total	0660	48 IN. PIPE GROUP A	Material		9		SYSTEM	(\$5,348.50)	
A8 IN. PIPE GROUP A MaterialCredit 10 Nov 18, 2019 \$5,348.50				- Total				(\$5,348.50)	
2019		Material - Total						(\$5,348.50)	
MaterialCredit - Total \$5,348.50 0660 - Total \$0.00 0830 SEEDING - COOL SEASON MIXTURES 7 Oct 1, 2019 SYSTEM (\$825.00) 8 Oct 17, 2019 SYSTEM (\$1,650.00) 9 Nov 4, 2019 SYSTEM (\$1,650.00) - Total (\$4,125.00)		48 IN. PIPE GROUP A	MaterialCredit		10		SYSTEM	\$5,348.50	
0660 - Total \$0.00 0830 SEEDING - COOL SEASON MIXTURES Material 7 Oct 1, 2019 SYSTEM (\$825.00) 8 Oct 17, 2019 SYSTEM (\$1,650.00) 9 Nov 4, 2019 SYSTEM (\$1,650.00) - Total - Total (\$4,125.00)				- Total				\$5,348.50	
0830 SEEDING - COOL SEASON Material 7 Oct 1, 2019 SYSTEM (\$825.00) 8 Oct 17, 2019 SYSTEM (\$1,650.00) 9 Nov 4, 2019 SYSTEM (\$1,650.00) - Total (\$4,125.00)		MaterialCredit - Total						\$5,348.50	
2019	0660 -	Total						\$0.00	
2019 9 Nov 4, 2019 (\$1,650.00) - Total (\$4,125.00)	0830	SEEDING - COOL SEASON MIXTURES	Material		7		SYSTEM	(\$825.00)	
- Total (\$4,125.00)					8		SYSTEM	(\$1,650.00)	
					9		SYSTEM	(\$1,650.00)	
Material - Total (\$4,125.00)				- Total				(\$4,125.00)	
		Material - Total						(\$4,125.00)	

Revision 4/1/2020 Page 23 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0830	SEEDING - COOL SEASON MIXTURES	MaterialCredit	,,	8	Oct 17, 2019	SYSTEM	\$825.00	
				9	Nov 4, 2019	SYSTEM	\$1,650.00	
				10	Nov 18, 2019	SYSTEM	\$1,650.00	
			- Total				\$4,125.00	
	MaterialCredit - Total						\$4,125.00	
0830 -	Total						\$0.00	
0850	ROCK DITCH CHECK	Material		7	Oct 1, 2019	SYSTEM	(\$1,206.37)	
				8	Oct 17, 2019	SYSTEM	(\$2,234.87)	
			Total	9	Nov 4, 2019	SYSTEM	(\$3,360.17)	
			- Total				(\$6,801.41)	
	Material - Total				0.1.1-	0)/0==:	(\$6,801.41)	
	ROCK DITCH CHECK	MaterialCredit		8	Oct 17, 2019	SYSTEM	\$1,206.37	
				9	Nov 4, 2019	SYSTEM	\$2,234.87	
				10	Nov 18, 2019	SYSTEM	\$3,360.17	
			- Total				\$6,801.41	
	MaterialCredit - Total						\$6,801.41	
0850 -	Total						\$0.00	
0870	TEMPORARY SEEDING AND MULCHING	Material		27	Aug 3, 2020	SYSTEM	(\$17,150.00)	
				27	Aug 3, 2020	SYSTEM	\$17,150.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user peterr1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	Total	Matarial		4	lul O	OVOTEM	\$0.00	
0880	SILT FENCE	Material		2	Jul 2, 2019 Jul 16,	SYSTEM	(\$193.00)	
					2019		<u> </u>	
				3	Aug 2, 2019	SYSTEM	(\$193.00)	
			- Total				(\$579.00)	
	Material - Total						(\$579.00)	
	SILT FENCE	MaterialCredit		2	Jul 16, 2019	SYSTEM	\$193.00	
				3	Aug 2, 2019	SYSTEM	\$193.00	
				4	Aug 19, 2019	SYSTEM	\$193.00	
			- Total				\$579.00	
	MaterialCredit - Total						\$579.00	
	· Total						\$0.00	
0890	TYPE C BERM	Material		3	Aug 2, 2019	SYSTEM	(\$600.00)	
				4	Aug 19, 2019	SYSTEM	(\$1,640.00)	
				5	Sep 3, 2019	SYSTEM	(\$2,680.00)	
			- Total				(\$4,920.00)	
	Material - Total						(\$4,920.00)	

Revision 4/1/2020 Page 24 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0890	TYPE C BERM	MaterialCredit	,,	4	Aug 19, 2019	SYSTEM	\$600.00	
				5	Sep 3, 2019	SYSTEM	\$1,640.00	
				6	Sep 16, 2019	SYSTEM	\$2,680.00	
			- Total				\$4,920.00	
	MaterialCredit - Total						\$4,920.00	
0890 -	- Total						\$0.00	
0910	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		4	Aug 19, 2019	SYSTEM	\$20,041.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				10	Nov 18, 2019	SYSTEM	(\$7,919.63)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$12,121.87	
	Construction Stockpile - Total						\$12,121.87	
	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material		10	Nov 18, 2019	SYSTEM	(\$17,762.50)	
				11	Dec 2, 2019	SYSTEM	(\$17,762.50)	
				12	Dec 16, 2019	SYSTEM	(\$17,762.50)	
			- Total				(\$53,287.50)	
	Material - Total						(\$53,287.50)	
	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	MaterialCredit		11	Dec 2, 2019	SYSTEM	\$17,762.50	
				12	Dec 16, 2019	SYSTEM	\$17,762.50	
				13	Jan 3, 2020	SYSTEM	\$17,762.50	
			- Total				\$53,287.50	
	MaterialCredit - Total						\$53,287.50	
	- Total						\$12,121.87	
0920	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		4	Aug 19, 2019	SYSTEM	\$12,840.24	Payment Estimate Item Adjustment generated Stockpile Transaction
				10	Nov 18,	SYSTEM		
					2019	OTOTEW	(\$6,420.12)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total			OTOTEM	\$6,420.12	Payment Estimate Item Adjustment generated Stockpile Transaction
0000	Construction Stockpile - Total		- Total			OTOTEM	\$6,420.12 \$6,420.12	Payment Estimate Item Adjustment generated Stockpile Transaction
0920 -	Total TYPE A CRASHWORTHY END		- Total	4	2019 Aug 19,		\$6,420.12	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
	· · Total		- Total	4	2019		\$6,420.12 \$6,420.12 \$6,420.12	
	Total TYPE A CRASHWORTHY END				Aug 19, 2019 Nov 18,	SYSTEM	\$6,420.12 \$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END TERMINAL (MASH)		- Total		Aug 19, 2019 Nov 18,	SYSTEM	\$6,420.12 \$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00) \$9,720.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END	Stockpile			Aug 19, 2019 Nov 18,	SYSTEM	\$6,420.12 \$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END TERMINAL (MASH) Construction Stockpile - Total TYPE A CRASHWORTHY END	Stockpile		10	Aug 19, 2019 Nov 18, 2019 Nov 18,	SYSTEM SYSTEM	\$6,420.12 \$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00) \$9,720.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END TERMINAL (MASH) Construction Stockpile - Total TYPE A CRASHWORTHY END	Stockpile		10	Aug 19, 2019 Nov 18, 2019 Nov 18, 2019 Dec 2,	SYSTEM SYSTEM SYSTEM	\$6,420.12 \$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00) \$9,720.00 (\$11,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END TERMINAL (MASH) Construction Stockpile - Total TYPE A CRASHWORTHY END	Stockpile		10	Aug 19, 2019 Nov 18, 2019 Nov 21, 2019 Dec 2, 2019 Dec 16, 18, 2019	SYSTEM SYSTEM SYSTEM SYSTEM	\$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00) \$9,720.00 (\$11,600.00) (\$11,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END TERMINAL (MASH) Construction Stockpile - Total TYPE A CRASHWORTHY END	Stockpile	- Total	10	Aug 19, 2019 Nov 18, 2019 Nov 21, 2019 Dec 2, 2019 Dec 16, 18, 2019	SYSTEM SYSTEM SYSTEM SYSTEM	\$6,420.12 \$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00) \$9,720.00 (\$11,600.00) (\$11,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END TERMINAL (MASH) Construction Stockpile - Total TYPE A CRASHWORTHY END TERMINAL (MASH)	Stockpile	- Total	10	Aug 19, 2019 Nov 18, 2019 Nov 21, 2019 Dec 2, 2019 Dec 16, 18, 2019	SYSTEM SYSTEM SYSTEM SYSTEM	\$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00) \$9,720.00 (\$11,600.00) (\$11,600.00) (\$34,800.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END TERMINAL (MASH) Construction Stockpile - Total TYPE A CRASHWORTHY END TERMINAL (MASH) Material - Total TYPE A CRASHWORTHY END	Stockpile	- Total	10 10 11 12	Aug 19, 2019 Nov 18, 2019 Nov 18, 2019 Dec 2, 2019 Dec 16, 2019 Dec 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00) \$9,720.00 (\$11,600.00) (\$11,600.00) (\$34,800.00) (\$34,800.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total TYPE A CRASHWORTHY END TERMINAL (MASH) Construction Stockpile - Total TYPE A CRASHWORTHY END TERMINAL (MASH) Material - Total TYPE A CRASHWORTHY END	Stockpile	- Total	10 10 11 12	Aug 19, 2019 Nov 18, 2019 Nov 18, 2019 Dec 2, 2019 Dec 16, 2019 Dec 16, 2019	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$6,420.12 \$6,420.12 \$16,200.00 (\$6,480.00) \$9,720.00 (\$11,600.00) (\$11,600.00) (\$34,800.00) (\$11,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction

Revision 4/1/2020 Page 25 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0930	MaterialCredit - Total						\$34,800.00	
0930 -	Total						\$9,720.00	
1010	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		9	Nov 4, 2019	SYSTEM	(\$30,315.00)	
				10	Nov 18, 2019	SYSTEM	(\$30,315.00)	
				11	Dec 2, 2019	SYSTEM	(\$30,315.00)	
				12	Dec 16, 2019	SYSTEM	(\$30,315.00)	
				13	Jan 3, 2020	SYSTEM	(\$30,315.00)	
			- Total				(\$151,575.00)	
	Material - Total						(\$151,575.00)	
	BRIDGE APPROACH SLAB (MINOR ROAD)	MaterialCredit		10	Nov 18, 2019	SYSTEM	\$30,315.00	
				11	Dec 2, 2019	SYSTEM	\$30,315.00	
				12	Dec 16, 2019	SYSTEM	\$30,315.00	
				13	Jan 3, 2020	SYSTEM	\$30,315.00	
				14	Jan 16, 2020	SYSTEM	\$30,315.00	
			- Total				\$151,575.00	
	MaterialCredit - Total						\$151,575.00	
1010 -	Total						\$0.00	
1020	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	Material		8	Oct 17, 2019	SYSTEM	(\$44,550.00)	
			- Total				(\$44,550.00)	
	Material - Total						(\$44,550.00)	
	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	MaterialCredit		9	Nov 4, 2019	SYSTEM	\$44,550.00	
			- Total				\$44,550.00	
	MaterialCredit - Total						\$44,550.00	
	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	Overrun	Overrun	8	Oct 17, 2019	SYSTEM	\$990.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) overridding Payment Estimate Exception 34 on the current Payment Estimate.
				8	Oct 17, 2019	SYSTEM	(\$990.00)	
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1020 -	Total						\$0.00	
1040	CLASS B CONCRETE (SUBSTRUCTURE)	Material		8	Oct 17, 2019	SYSTEM	(\$24,375.00)	
				9	Nov 4, 2019	SYSTEM	(\$24,375.00)	
				10	Nov 18, 2019	SYSTEM	(\$24,375.00)	
				11	Dec 2, 2019	SYSTEM	(\$24,375.00)	
				12	Dec 16, 2019	SYSTEM	(\$24,375.00)	
			- Total				(\$121,875.00)	
	Material - Total						(\$121,875.00)	
	CLASS B CONCRETE (SUBSTRUCTURE)	MaterialCredit		9	Nov 4, 2019	SYSTEM	\$24,375.00	
				10	Nov 18, 2019	SYSTEM	\$24,375.00	
				11	Dec 2, 2019	SYSTEM	\$24,375.00	

Revision 4/1/2020 Page 26 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1040	CLASS B CONCRETE (SUBSTRUCTURE)	MaterialCredit	71	12	Dec 16, 2019	SYSTEM	\$24,375.00	
				13	Jan 3, 2020	SYSTEM	\$24,375.00	
			- Total				\$121,875.00	
	MaterialCredit - Total						\$121,875.00	
1040 -	- Total						\$0.00	
1050	SAFETY BARRIER CURB	Material		10	Nov 18, 2019	SYSTEM	(\$19,458.00)	
				11	Dec 2, 2019	SYSTEM	(\$19,458.00)	
				12	Dec 16, 2019	SYSTEM	(\$19,458.00)	
				13	Jan 3, 2020	SYSTEM	(\$19,458.00)	
			- Total				(\$77,832.00)	
	Material - Total			44		0)/(075::	(\$77,832.00)	
	SAFETY BARRIER CURB	MaterialCredit		11	Dec 2, 2019	SYSTEM	\$19,458.00	
				12	Dec 16, 2019	SYSTEM	\$19,458.00	
				13	Jan 3, 2020	SYSTEM	\$19,458.00	
				14	Jan 16, 2020	SYSTEM	\$19,458.00	
			- Total				\$77,832.00	
	MaterialCredit - Total						\$77,832.00	
1050 -	- Total						\$0.00	
1060	SLAB ON CONCRETE BEAM	Material		8	Oct 17, 2019	SYSTEM	(\$32,650.00)	
				9	Nov 4, 2019	SYSTEM	(\$98,000.00)	
				10	Nov 18, 2019	SYSTEM	(\$98,000.00)	
				11	Dec 2, 2019	SYSTEM	(\$98,000.00)	
				12	Dec 16, 2019	SYSTEM	(\$98,000.00)	
				13	Jan 3, 2020	SYSTEM	(\$98,000.00)	
			- Total				(\$522,650.00)	
	Material - Total						(\$522,650.00)	
	SLAB ON CONCRETE BEAM	MaterialCredit		9	Nov 4, 2019	SYSTEM	\$32,650.00	
				10	Nov 18, 2019	SYSTEM	\$98,000.00	
				11	Dec 2, 2019	SYSTEM	\$98,000.00	
				12	Dec 16, 2019	SYSTEM	\$98,000.00	
				13	Jan 3, 2020	SYSTEM	\$98,000.00	
				14	Jan 16, 2020	SYSTEM	\$98,000.00	
			- Total				\$522,650.00	
	MaterialCredit - Total						\$522,650.00	
1060 -	- Total						\$0.00	
1140	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	Material		7	Oct 1, 2019	SYSTEM	(\$14,950.00)	
				8	Oct 17, 2019	SYSTEM	(\$14,950.00)	

Revision 4/1/2020 Page 27 of 30



	_							
Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1140	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	Material		9	Nov 4, 2019	SYSTEM	(\$14,950.00)	
				10	Nov 18, 2019	SYSTEM	(\$14,950.00)	
				11	Dec 2, 2019	SYSTEM	(\$14,950.00)	
				12	Dec 16, 2019	SYSTEM	(\$29,380.00)	
			- Total				(\$104,130.00)	
	Material - Total						(\$104,130.00)	
	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	MaterialCredit		8	Oct 17, 2019	SYSTEM	\$14,950.00	
				9	Nov 4, 2019	SYSTEM	\$14,950.00	
				10	Nov 18, 2019	SYSTEM	\$14,950.00	
				11	Dec 2, 2019	SYSTEM	\$14,950.00	
				12	Dec 16, 2019	SYSTEM	\$14,950.00	
				13	Jan 3, 2020	SYSTEM	\$29,380.00	
			- Total				\$104,130.00	
	MaterialCredit - Total						\$104,130.00	
1140 -	Total						\$0.00	
1180	CLASS 4 EXCAVATION	Overrun	Overrun	4	Aug 19, 2019	SYSTEM	(\$1,207.00)	
			Overrun - T	otal			(\$1,207.00)	
	Overrun - Total						(\$1,207.00)	
1180 -	Total						(\$1,207.00)	
1210	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	Material		2	Jul 16, 2019	SYSTEM	(\$14,300.00)	
	,			3	Aug 2, 2019	SYSTEM	(\$35,100.00)	
				4	Aug 19, 2019	SYSTEM	(\$50,700.00)	
			- Total				(\$100,100.00)	
	Material - Total						(\$100,100.00)	
	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	MaterialCredit		3	Aug 2, 2019	SYSTEM	\$14,300.00	
				4	Aug 19, 2019	SYSTEM	\$35,100.00	
				5	Sep 3, 2019	SYSTEM	\$50,700.00	
			- Total				\$100,100.00	
	MaterialCredit - Total						\$100,100.00	
1210 -	Total						\$0.00	
1230	REINFORCING STEEL (CULVERTS-BRIDGE)	Material		2	Jul 16, 2019	SYSTEM	(\$945.40)	
			- Total				(\$945.40)	
	Material - Total						(\$945.40)	
	REINFORCING STEEL (CULVERTS-BRIDGE)	MaterialCredit		3	Aug 2, 2019	SYSTEM	\$945.40	
			- Total				\$945.40	
	MaterialCredit - Total						\$945.40	
1230 -							\$0.00	
1310	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		28	Aug 17, 2020	SYSTEM	(\$394,950.60)	
	. ,			28	Aug 17, 2020	SYSTEM	\$394,950.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user peterr1

Revision 4/1/2020 Page 28 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1310	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material						overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1310 -							\$0.00	
1320	TACK COAT	Material		28	Aug 17, 2020	SYSTEM	(\$12,250.00)	This distribution of the state
				28	Aug 17, 2020	SYSTEM	\$12,250.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user peterr1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
			- Total				\$0.00	
1000	Material - Total						\$0.00	
1320 -						0) (0 = = 1	\$0.00	
1350	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	Material		21	May 4, 2020	SYSTEM	(\$3,600.00)	
			- Total				(\$3,600.00)	
	Material - Total						(\$3,600.00)	
	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	MaterialCredit		22	May 18, 2020	SYSTEM	\$3,600.00	
			- Total				\$3,600.00	
	MaterialCredit - Total						\$3,600.00	
	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH	Other Item Adjustment	ACAD	22	May 18, 2020	peterr1	(\$35.82)	Estimate 0022, ACAD adjustment for BB, 35.20 Tons for April, 2020!
	PAVEMENT REPAIR			22	May 18, 2020	peterr1	(\$1,720.54)	Estimate 0022, ACAD adjustment for BB, 94.90 Tons for May 2020!
			ACAD - Tot	al			(\$1,756.36)	
	Other Item Adjustment - Total						(\$1,756.36)	
1350 -							(\$1,756.36)	
1370	CONSTRUCTION SIGNS	Material		28	Aug 17, 2020	SYSTEM	(\$2,930.00)	
				28	Aug 17, 2020	STSTEIN	\$2,930.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user peterr1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1370 -							\$0.00	
1390	FLAG ASSEMBLY	Material		28	Aug 17, 2020	SYSTEM	(\$80.00)	
				28	Aug 17, 2020	SYSTEM	\$80.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user peterr1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1390 -	Total						\$0.00	
1480	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		5	Sep 3, 2019	SYSTEM	\$6,141.75	Payment Estimate Item Adjustment generated Stockpile Transaction
				28	Aug 17, 2020	SYSTEM	(\$6,141.75)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total					2112	\$0.00	
	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material		28	Aug 17, 2020	SYSTEM	(\$13,775.00)	
				28	Aug 17, 2020	SYSTEM	\$13,775.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user peterr1 overridding Payment Estimate Exception 9 on the current Payment Estimate.

Revision 4/1/2020 Page 29 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1480		Material	- Total				\$0.00	
	Material - Total						\$0.00	
1480 -	- Total						\$0.00	
1490	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		5	Sep 3, 2019	SYSTEM	\$3,240.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				28	Aug 17, 2020	SYSTEM	(\$3,240.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		28	Aug 17, 2020	SYSTEM	(\$6,000.00)	
				28	Aug 17, 2020	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user peterr1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1490 -	- Total						\$0.00	
5004	REINFORCING STEEL (BRIDGES)	Material		28	Aug 17, 2020	SYSTEM	(\$1,117.66)	
			- Total				(\$1,117.66)	
	Material - Total						(\$1,117.66)	
5004 -	- Total						(\$1,117.66)	
Overa	all - Total					\$104,221.83		

Revision 4/1/2020 Page 30 of 30